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L APSELELSPUL 2UUUUrNRULEL.
CURULART 2CNR8RLEN

1. LErUoNrE8NAR

QUAUQUC 2PIGIELSRUL 2UUUUCTUTL,
LU LAROUTY, CURZELAR LNROUTL BY
CUVRZULNAR MUSEQCULr UUURL

Uwhdwbtmy 1: Uhjwju thnpnjuwfwbh, npnbth $nibyghugh b tpum
wdwbgubtph dhobh wnbympmibb whjwmimd i phykphughw; hunjw-
uwpnud:

Ujt pliphwimp nhypmd mh}x htnbju nbupp*

F(x,,¥,.. y")=0: (1.1)

Uwhdwbtmid 2: Epk whhujun pmbyghwh Jujejwsd b Uty whwju hn-
tnjumljuihg, wypw bpw wdmbgmjbtpp umnpujwt wiwhgubtp b,
wyn hwjuuwupmuh i Ynpjnud b unynpuljmb nhptpighw) hwudumuwpnud:
bpt wbhwjn $milghwt jujujud k vh pumth wijwje hmpnjwjwbuk-
phg, wyw bpw wdwbguybhbtpp vwubwlh wdwbguibhtp kb, b hujuuw-
poudp Ynsynud | dmubiulh whwbgphtpm) nhdbptbghw) hujurompnu:

Uju Atnbwpyp ifhpdwsd £ dhuyb unynpuwywb nhpbpbiighw hwjwm-
uwpmuutnphb, npnbg jups juinjwhtip nhptptighun hujwuwpnudubn:

fubwpyktp dhqhyuyh npny unhplbp, npobp phpymd kb phptpbb-
ghw} hwnjuwuwpnudubph:

Mighpl: Hhunwplktp oughnwlnh] ynph wpehiwb ighpp: Th-
gmp upjws punhnuljnhy hmph qubqiudp dwdwbwhh f wwhhb
N (t ) t: ®npahg hwpnbh k, np nughnwlnhy imph npnhdwb wpugnipe-
mip nunhn hunfbdwnwlwb £ wyg wwhhib bnud youph quiqiushb®
ﬂdt(t—) =—kN(t), (12)

nputn £ - & pughnwlnj iympp pinpnsnn hwuwnwwnmb k:
Ulgutyny nhptptughuybiiph wbkuph’
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dN(t)—dA;()

unwbnu blp* -NT(:)—) =—kdt , yud" dInN (t)=d (—kt): Qupttt
In(N(t))=—kt +Inc=>
N(t)=ce™: (1.3)
bpt uyqpiwfub ¢ =0 wwhht rmphnwlywnhy ymph quiqluép
N(0)= N, t (uiqptmfub wywyiwth), woyw (1.3) - p Yphgniih htnbyu
nkupp’

dt =—kN(t)dt,

N(t)=N,e™: (1.4

Ujuwhuny runhnuljupy ympp juqmd bt tpuynbbtighuy optb-
poy (qpn sh punbinud):

Nimhp 2: Gunbk; wyb huybjughtt Jwybpunyph wkupp, nph mbh
wnubgputht hwdwywhmpnit b wjbyhupt E, np wnwbgph gniquihtin
1nyuh Lwrwquypbbtpp winpuywetnud b wowbgph npnpwyh F Yhwh
(Inlynmup):

Lowdnul: Munhpp mukbp thtnpynn dwtplinyph wnwbigpuyhh hw-
uinyph hudwp (by.1): Zwdwpkip, np $nyniup hudpbjnud £ Ynnpgh-
bwwnbbph uyqpbultnh bt (F = 0): Unph Yudupulut M(x, y) Y-

nny nwbkbp snpuhnng b iywbwlkup snpuhnnh b OX wnwhgph npu-
Juwbh mynmpjut juqiud whipntbpa :

B - \F Ax J
%\
vy 1



fwbh np pun nyuh wippunupddwh opthiph® whjdwh b whnpw-
pupddwt whymbbbph hpwp hwjwuwp th, weyw AFAM -hg Yniuk-

bwip*
BF =FM =z(x)= ,/x’ +y*(x).
AABM -hgmibbp' y'(x)=1ga = xi’(z?x) :

Sknunptyny z(x) -h wpdtpp, uunuwbwbp htulyjw nhptpkughuy
hujuwuwpnudp*

P S
T o
npht npnbthh pntbghmb pupdinmd £ inyimpmit
y(x)
x+ sz +y*(x) '
Ug dwuh hunfwphyt m hwpnwpupp puquuywanlking hmpunwpw-
ph 1¥9npyny, junwbwip* -

y(x)(,/x2 +y*(x) -x)

y(x)= O (1.6)

Y(x)=

Ulghtny qb{)hphh;;hmlhhph wbkuph, npn? dbunhnjumpmnibhbphg
hbwn mutbhwbp’

xdx+y(x)dy(x) = sz + (x)ax , yuut® lw =dx:
' 2 ,/xz +y*(x)
Ujunntnhg winwnwf Ehp*

d\x? + y* (%) =d(x+c)=> P +y () =x+c>

1 c
) =2xc+c? = x=—y (x)-=:
y'®) Y (%) >

Uunwugubp wwpwpnjbkph phwnwbpp: Manti] OX  wnwbgph
2npop, junwbwbp yunundwh yuwpupninhnbbph pvnwthp:
-5-



Unbdwbnud 3;: Thpkpkughuy hajumuwpdwh jupq wulkjnyg huwulw-
inud kb hwjwuwpdwh dlp duwubwlgnn wdwbgpujibph wdkbwpwpdp
Yupgp:

Uwhdwmtmd 4: Hthptpbhghun hujwumpdmb mdnwd & Ynygnud wyh-
whuh y = y(x) pmiilghw, npnpwd hliy - np X dhgwljupnu, npp (1.1)
nhdtptighw) hujuuwpnuip wyg vhpuljuypnud nupdtmd k inyunipymih:

Unbdwtmd 5: y= y(x, (A ,...,c,,) wtuph $mblghwb Ynymd t
(1.1) phpdtpbughuy hunjwuwpfwb pinghwbnp udmd, tpk*

1. Vg,,...,¢, hmununmbbtph nwpnud y = y(x, c,,...,c,,) pmby-
ghwt htighuwtimud t (1.1) - h (pudmud bty — np X dhpwljuypnudd,

2. (1.1) - h jundwymywh z = z(x) [ndvwh hwdwp 3¢, ...,c¢, huu-

nwmunitubp, wybiyhuhp np z(x) = y(x, C5-esC,p ):

bpp imudmud bup (hinbgpmud klp) nhdtipkughw) hunjwuwmpnudp,
hwdwju uvnuwgynud t uy x - h, ¥ - b b hwunmunnmbbbph dheb, npntk-
nhg sh hwgnnynud qunbit) pinhwbnp dnuip: Hhpbpkiighw) hwjwuw-
pnuwlp hwdwpgnud £ imdws, bpp dbpp bpwd juwp uinwugyly

Uwhdwbnuf 6:

e(xy.c,,...c,)=0 1.7
wibuph wnbhympmbp Ynypmd k (1.1) bujmuwpiwb ppnphubtmp htant-
qpu), kpt’

1. V¢,...,¢, hmununmbbtph ntypmu (1.7) ~ hg npnoynn, »
whqud nhptipkighih wipugmbuyn mblghmtt hwbinhuwtnud k (1.1)
hujuwuwpdwb jnudsnud:

2. (1.1) hwjwuwpiwb htywhuh y=y(x) imémf b Jbpghblp,

3 ¢,...,¢, hmunmunnihitp, wyhwhuhpnp y = y(x) $nhijghwmt (1.7)-p
nupdtnud t inyhintpynih hby - np dhpwljuypmad:

Spjwd nhpbptighw) hwjwuwpdwb msdwb ypngbup whjwbnd
kb hinatigpnud (hwywbwpwp wjh ywwdweny, np mddwh wypngbund
hwplyujnp k thinud junwpl) puqéuph] hintqpnudubp):

-6-



II. UNULFL YUrah MUrQuanksu 1hdtrcushul,
Zuquuuraruuer

1. y' = f(x,y) SCULP MILLHLRUL ZUMUUULUTL
LOROUUL bLUrUUOUY UL UEYLUATLARSSARLL:

Unwght Jjupgh phdtpkighwy hwjwuwpdwh plinhwbnip wnkupp
htnbyuyb &

F(x,yy')=0: (1.1)
Lutju phttwpyip wyt dwubunjnp ntuppp, Gpp bujwuwpnudp jous-
Yuwd k wdwmbgjuih hjwwndwdp, wyuhlph'
y=f(xy): 1.2)
Uwmbhdwbtnd 1: hgmp f(x, y) Imulghwt npnpmd t XOY
hwppnipjub hby - np (D) whpnypnwd: U whpnyph mupupwbymp
(%, ;) ywm] nwbkbp wjwhuh myhn (hungws), nph OX wowbgph
gpujmb  nuynmpjwmbh hkn  juqiwd @, whymbp npnpdh
tge, = f(x,,y,) wuydwithg: Upy munhnp Yngdmd t (x,,,) Yhwmd
(1.2) hunjwuwpmuny npngynn mgnopch: Unagytg, np ( D) uhpny-
pPh miupupubynip jEuny whghnud & npnpwih mgnnipymib: W muyy-
nmpjniuibbkph puqunipimbn Ynyynud & muynmipymbubbph quown:

Uuyhuny wyuwpq k queinud nusdwb Gpypuyupwuljmb hdwuap:
Qubk) (1.2) hwjuuwpdwh mddwt gpudphyp (htnbqpujuyht Yopp)
bowbmynud t qualaly (D) - n{ wjiighuh nnnpYy Ynp, nph jupwpurhy-
mp jhnmd wmupjws ongwhnnp hwdpbjbh wyn jEnnud guonp nug-
nmpjwb hbw:

Uubdwtmd 2: Ujh Enkph tpjpuympwljub nbnp, npubn quunh
mbp dhtibinyb mynnipymbp, Ynyynud & wjyuy ghptiptughuy hwyjuuwp-
dwb hqnijjht jud hujwuwmpwpbp (hujwuwp ptipmpmubkph ghd):
hqnyjhtip npnpynud & f (x, y) = ¢ wupwbhg:
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Ophtryy 1: Hhwnuplkbyp %

bpw hqnlyhhitpp b hwvkqpuyuyht Ynptpp: BenYthtibkpp npnoymud &b
—% — ¢ wuptubihg, wyuptph' y=-x nughnibny kb, npotg wiiym-
y c

=X hujwuwpnuwip b Junmgtbp
y

1 .
tuyht qnpdmlhgh t &, = -7 Ujn hqnyihtih mupwpwbymp fhnmd nug-
nmpjut whymbught qgnpdwyhgh t k, =c: Lwbh op &, -k, =-1 ,
wyuw uwnwugynud t, np hgnYjhth jppupwbynip YEunud nupnmpnitp
nupnuhuyug b hqnihttht: Mupbdt, nddwp sk hwuljwutiwg, np hnntqpuw-
rayht Yopkpp Yihtkt (0,0) Yhtwnpning spgwimgstp:

Uydd nhinuplkbp wowght Yupgh &qpuinpkt imnn ghpbpbb-
ghwy hwjwuwpnudubph quubkpp:

2. QUSYNI, oNeNUTHULLECAY HhIGIELIRUL
2uquuurarouer

S(y)dy = g(x)ax @1
wtuph hujuuwpmubtpt winwbinud th wbpwujwd hnhnjumjubht-
pny nhdtipkighw hunjwuwpnudubp:

Ptnpt 1: bhpunpbp £ (x)-pt g(y)- & wbphnhunn $nibyghw-

bp b4 X0Y hwppnippub bty - np (D) whpnypnud b f(y)#0: Uy
atypnud (2.1) hwjwuwpdwb phghwimp hnbkgpuyp mbh halyu
wkupp*

[ro)dy- [g(x)dx-c=0: 22)

bpk ¢ - b pluapynud bbb, op y(x,) =3, (%, 3,) -t (D)-h
Judwjulwt Yn t), wyw (2.2) - p pignibnud £ hEnbywg wkupp®

i[ f(s)ds= ]g (r) at 22



Uwmgmgnul: Thgmp y.=y(x) $milghwh (2.1) hujwumpiwh
YJudwyulub jpdm k (apw gpudhlp mbghmd k (D) whpnyphl wuwn-
yutnn uduyuymb M), (x,, 3, ) jtanny): Upahbph®

f(y(x))dy(x)sg(x)dx ((x'.V)e(D)’.V(xo)'—'yo): (23)

huntqpbind uvnwugjud tnybmpmbbp x,- hg X uvwhdwbbbpmud,
junwbwbp*

x

[r(r®)av(r)= ]g(t)dt: 2.4)

Ubpimakhp  bpwbuynul F\(y)'= f[ f(s)as (F'(y)=1(»)):

Up nlwyprud*

[ (@) ()= F(y(x)) - F(#(x0)) = F ()~ F (30) = [ £ (5)ds

- Hx) x
Upayhum], y(x) {oudnudp (2.2°) ~ p pupdtm t I f (S)df = Ig (tﬂl
Yo Xo
wntuph tnyimpjnih:

Uydy, nhgmp hwhwowlh b y=y(x) $mbyghwb (22') - p
Ha) x
nupdtmd £ bnyimpymb* I f(s)ds= Ig(t)it:

Yo Yo
x ¥y
bpb bpwbwlthp H(x,y)= [g(e)dt— [f(s)ds, wupm jatmhpp
X0 Yo

huwignud t tpwh, pt tpp t H (x,y)=0 hujuuwpnudp  npnymd

y= y(x) whpmgwhuyn, whphnhwwnnpth nhdptpkbghth  Pmblyghw:
Thw hadwp pajupup bb htnbypo yupdwbbtpp ((71,09])

-9-



H(x,y),H,(xy)=g(x).H)(x.y)=f(y) ymblyghubbbnp b-
kb wphnhwwn (D) -md b H) (x, y) =f ( y) # 0 : U popnp upuyyimbbb-

pp wnljw b thgmp y = y(x) wyy whpugumbhugn pariiyghui b wuhliph®
H3) x
I f(s)ds= f g()dt : uhpuntym] nhPkpbbguwt owbpuwnnpp
Yo Xo

ayn tmybmpjul pw, junwbwbp f ( y( x))dy (x) =g (x)dx 5
Ujuhliph' y = y(x) Inighwti (2.1) - h joudbmudh K m

Thdtpkighw) hujuuwpnudp Ynyymd E mbgwujng hmpnjemmb-
bbtpny, Epl wyh mbh hkwnbym; nkupp®

L (0) &, (x)dy =g, (x) £, (v)ax.
npukn f, (y).f, ()’)'gl (x)'gz (x)e C((D))'

fz(y)¢0.g,(x)¢0,(£8) 20:

Uspu hunjwuwpmuip phpynud t wbgunmjwd thmpnfuwmfmbhtpnny ph-
dtptuighw) hunjwuwpdwb®

/i (.V ) & (x )
= dx:
2002 06)
Ophtuuy 1: Lmdt) htwntpuy Ynohh tghpp®

y'ctgx+y=2,y(§]=0:

Utightiny nhptpbbighuylikph wbuph® cfgx-dy =(2 -y)dx b yuw-
wwpkiny pwdwimy (Uptiyh pumdwbbyp, twnkbp, np y =2 dwuwbw-
ynp imdnud k, puyg wyb sh pujupupnud uyqphwljut yupdwbhb) vwnw-

o Ghp: & = —tgxdx : Phunkqpkny I & =-— Ismx dx +In|c| ,
y-2 y=-2 cosx

! (@ upfynjp bywbwymd & pinplvh wywgnigiwb wwpwnp)
-10-



Uwhymbmuf 2:
P(xy)dc+Q(xy)dy=0 @1
wubuph nhdPiptughwy hwdwuwpnudp Ynydnud t budwutn, tpt P (x, y )

b Q(x, y) $nLiyghwiitpp inyh (@ ) uipgh hwdwubtn $mbyghwhbtp th:

bppx >0, dbwhnjubyny (3.1) hwjwuwpnuip b oquytny P,Q
Imuyghmbbph hwdwutnmpntbhg, junwbwbp*

P(x-z,x-l)dng(x-z,xl)dy=0=>
X X

x“P(I,Z)dx+x°Q(],Z)afy =0=>
X b o

% _.__}_D(iﬂ = f(%) (P.@eC(D),(D) = R*,Q(x,y)=0):

o2

bppx <0, Jbpp toqwd Abwhnjumpmibbbpmd x - p whwp t Gin-
Jowphil] —x n: Ujuyghum] hudwukn ghdtptughw) hwjwuwpmdubtpp
ptpynud kb htwlywy nkuph'

Y _sl2 .
_ f(x), fec(D): @2
“Lhpumathp tnp npntitph pnibyghw
z(x)=Loy=ay=z+x'2z2+x'= f(2)

x

dz dx
f(Z)— > = 'x— (f(z)ae z)(f(z)s z pbwpp hwumly phbwpy-

dwb Yuphp mbp): Unmgltg whpunjwd hmhnjumymbbtpm] ghdtptb-
ghwy hujwuwpnud:

=

-12-



Ophtwmy 1: Tmdly

&l@-

Z tg— hunfwutie ghdbpttghuy hunjwm-
X

dz
uwpnuip: Lowlwkny y = xz, junwbwbp* % = xz + z : Stqunpt-

dz
1Y uljqphumjub hunjuwuwpdwh ke, junwmbmbp® x -Ix— +z=z+1gz:

Nupq L np sinz=0 (z =gk, y=nkx, ke Z ) hunjwuwpuwmb
cosz dx

dz=—,

sinz X

[nusnwd b Zendwptiny] wydd, np sinz # 0, junwbwbp'

In|sinz| = In|x|+In|d|, sinz = cx, sin%=cx:

j‘l’. =f w wnbtuph hmjwuwpmuutpp bu ppygnud ko
dx a,x+by+c, '

hundwutin nhdptpkiighuy hujuwuwpdwih Ynnpghbwwnbph uyqpbwljtnp
wtnupnpjukny g,x+b8y+c, =0 u a,x+b,y + ¢, = 0 mnhnutph hwa-

ax,+by,+c, =0
Py (xo».)’o) llhml!‘{ 1Xo T O Yo TC

“: Upgmbupmu, tpt hhwuplt
a,x, +b,y, +¢, =0 prynthp pt hhupy
mnhnbbpp quiquhtn sk a,b, # a,b, , jwuwwphm)

X=x-x .
{ - o jnnpphhunnwluk dbunhnjum pymbip, Yurnwbwbp*
Y=Y—=JYo

) Y a +b, y x
utn phptpkhghwy;  hwjwuwpnd b bph ax+by+c=0 u
ax+b,y+c, =0 mnhnlbpp qoiquhbn bb* i}:%:—:k, wp Wkpagp
Yhpunkyh ok Fuyg wym nhypmad’ |
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c_iy_ - f ax+by+c
dx k(ax+by)+c,

) = F(a,x +b,y) (nku (2.5)):

4. UNULQPL UM q0UShL
ARBELELSPUL 2UUUUCNRULES

Unwmght Yupgh gdmyhh nhpbptbghwy hujwumpnid b Yoydnd ugh
hunjwuwpnudp, npp gduyhl £ npnbitjh $nmbiyghuyh U tpw wdwbgyuth
hljunndundp, wyuhtiph® hkwbywy wnkuph hwjuuupmd*

%+p(x)y=q(x). @D
nputn p(x), ¢(x) Pnmbyghmbbplt whpbnhuwn th hby ~ np X' vhgw-

Yuypnud:
Qduht (4.1) hmjuwuwpnudp mdymd b wjuybu Ynyjwd hwunw-

wintbh thnthnjowpludwtb (quphwghuyh) dtpnnmy: Lwje bdmd Gip hw-
dwutn hmjwumpoandp (¢(x)=0)

% +p(x)y=0: 4.2

Zundwutin hwjwuwpdwt ke whgwntgny thnpnjowwbbtpp b hb-
wliqpiymy, junwtwmtp®

-‘;l = —p(x)dx = Igyz =—Ip(5c)dx = In|y|= —jp(x)dx+ln|c|:

Ujuntnhg, hunfwutin hunjwumpuwb piphwtmp jnudnudp Y{yhth'
Yo = ce "% a0 “3)

(pwdwltyny y -h Ypw Wkup Ynpgpghtp y =0 mdnudp, uvwluyh kpk
hwdwpkip, np ¢ Yupnn k pinoibl bwb qpn wpdbpp, wujw (4.3)-p
Yywpnibwyh bwb y =0 ynudnudp):

Zundwutin hwjwuwpdwb pighwimp pudwb (4.3) nbupp hngmd E,
Pt hby wkupny npnbikup ny hunfmutn (4.1) hwjwuwpuiwb jndnuwdp, wjb t*

-f pla)ae

y=c(x)e 4.4

-14-



opnkn c(x) - p tnp npnuthh Pmiyghw k: Ubwbgliny, (4.4) - p b nk-
qunplny (4.1) - h Ubp, juunwbwbp*

¥ (@)=¢ (x)e 1 —empxre I

c'(x)e-j POE _ e(x) p(x)e-l P p(x)c(x)eI P

c'(x)= q(x)el P c(x) = IQ(x)e IM"Wd’ﬁ .

npntn ¢, - p hwmununmt t: Ujuyhuny, (4.4) - hg wnwtnd Bup (4.1)
hujuuwpdwb pinhwimp ndnudp®

y= c,e_I puM e_I P Iq(x)el PO e (45)

(x)dx

=q(x)=

npp punjuguwd b hwduutn hujuuwpdwt piphwbngp dwh b ny

- dx x
hufunutn hwjwuwpdwh e fr fq(x)ej P o dwubunnp mbdwb

gnuiwphg: fwbh np ny hwdwubkn huduuwpdwh bpyne mdnudutpp hpw-
phg wupplpynud kb hwfwute hwjwuwpdwh pisnidny, ntunh ny hudw-
ubnh pliphwbnip muddwlb (4.5) pmbwdtnud Yupbih b npybu ny hudwmubich
dwubun]np jmdmud phaply npp wwwnwhh: Uju hwmbqudwbpp hwoyh we-
blny, tpt hwgnnymu k quuuk; ny hwdwubn hwjwuwpdwbh npbt mdnud,
wyw wjbu hwunwnnibh hinpnjpwpimb dkpnght Jupbh k sphadby:
Ljuwntlp, np Yniptn ghyptpnd tyywnwjuhwpdup st oguty
(45) pubwdbhg: Ugtjh hwpdwp b pupupwbymp phypmd junwply
Ytpp tgywd pubpp:
Ophbwlyy 1: Lok hbtwlyuy phdpbipbighw)  hujwuwpnudp®
xy'+(x+1)y=3x"e": Lwph mdttp xy'+(x+7/)y=0 hunfwubn
hwjwuwpmup*
Y In|y|= -x-In|x|+In|c|= y, = e
y x x
Ny hunfwutinh jmdnudp npnbikbp hkwnlywy wntupny®

y=c(x)e*x' = y'= C'(x){-— ——c(x)i -c(x)i;—:
X X X
Sknunptiny ny hunfwutn hunjwuwpdwt Uk, junnmbwbp'
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c'(x)e* -c(x)e™ —c(x)e—::- +c(x)e™ +c(x)% =

-X

=3x2e" = C'(x)=3x2 ac(x)=x3 +cl =>y=x2e-x+cl e

Opptwmy 2: Lnuwdky % P AR hujuuwpnudp: bhunkqpup hundw-
x

wyunnwujwt hmdwutn hwjwuwpmdp.

abc
g ':: =0, dy lnlyl lnlx]+lnc Vo=

Ny hwdwutn hmqmumpdmh dumhun[np munudp npnbkup y, = ax
wbkupny: Skqupptim] hwjwuwpdwt Uk, junwbwip*

3ax’ -ax’ =x? =>a=§:

1
Upuuyhuny' y, = 3 x’: Mplaf, ny huwutn hunjwuwpdwt pinhw-
3

tp nudnudp iheh y=cx +-§2— :

fipn nhtpbbghw) hujwuwpmubp hapnjwlwbh fnjonphb-
dwb dhgngny] Yupkjh b pipty gdwyht hwjwuwpdwi: Opphwy® Atnbni-
thh hwjwuwpnulubpp, npntip nibkh htwnbjug nkupp®

Y+ p(x)y=q(x)y*(a=0,a=1):

Puwdwtityny ¥ - h Ypw (hbgh pudwbbyp whnp & phtwplly y =0
imwnud (hubkynt hwpgp), juunutubp*

Yy + p(x)y e =q(x), (4.6)

Yt I—_I;(y"" ) + p()y™ = q(x):

Lowbwykny y"" = z(x) unwbmy thp gdujht nhpbpthghw) hw-
Jwuwpma:
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Oy 3: Lnpty =2+ X Phnlmq]x]i hujwuwpnulp: Ul
dx 2x 2 y
phptuny hbwbyy nbuph® dy Yy tpmbwltnyg )’ =z(x),
X

dz z
Junwubwbp® I = ; +x? gduyhtt hwjwuwpmup, nph phnhwbnip (-

3 3
mulu k' (nbu ophbaly 2.) Z=C,x+£2-:nphdh‘ y=1 ,clx_,.fz_:

Zmunhymd Eh twb npny glyptpmd gduyhtt hujwuwpdwb php-
ynn, hijmunhh hujwuwpnufutp: Hpwbp kb htnbyw; wbuph hujwuw-

pawlbpp’

% + Py +a(dy = £(): 7

Zuyunth k, np phphwbimp gtwypmd hwwnhh hujwuwpnudp hbu-
punp st dogpuinpbt midky, puyg tpt hwennyly b quabty uyn hwyjw-
uupdwh npbt  y,(x) dwubwygnp mdnwd, www  hnphnjuwlwubh

¥(x)=y(x)+2(x) ‘hojuphtnfwh dhengny Yupbih (47) - p phpky
fintmpph hujwuwpdwh: Ppnp, whnunpkng y(x) =) (x)+ z(x)
(47) - h Jbg, Yunwmbmbp' .y +2'+ p(x)(y, +2) +q(x)y, +2)’ = f(x):
fubh np Y, + p(x)y, +9(¥)y; = f(x), Yunwbwbp Photinybh hujuw-
wwpnuip. z'+[ p(x) +2g(x)y, ]z +q(x)z* =0

Ophtmly 4: Lmaty % =y’ ——22- hunjuwpmup: Mdjwp sk nbubly,
X

op hujwuwpnudh muh y, = -g— nbuph dwubwynp jmudmud: Sknunnpbinyg

hujwuwpdwh kg, unnwbmd thp*

2
-%:%-%3a +a-2=0=>a,=-2,a,=1: Ujuujhuny,
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ophtmy ), =i: Lowhwybyny y=z+%. junwtubp' y' =z —%,

1 2
z—-—z—z +2— +—1---5-. Yud z'=zz+2£. npp  Rtmbnyhh
x x x* x x

hujwuwpmu k&

5. LOPY LI USPULLEN Y 2UMUUUrnpunLee

Uwhdwtnuf: Hhgnp P,Q € C(D), npubn (D) - & R? wwpuw-
dnipjwb whpnyp  (pug Yuywhgjms puqunipmb):
P(xy)ax+Q(xy)dy=0, (5.1)
wbuph hurfwuwpnuip Yasgoud & phy ghpbpbbghublpny, tpt (D)- nud
qomppmt nubh nhdbpkbgiah U (x, y) $nibyghw, wjbwhuhb, np®
dU(x,y)=P(x y)dc+Q(x y)dy ((x.y)e(D)): .2)
Uyuyhuny, phy nhPpbptbghuyubpny huwjwuwpnudp mbh htanbyuy

wbupp*
dU(x,y)=0: (52°)
#wbh np dU(x,y)= 6Ug‘c,y) dx+ aug’y)dy " dx,dy w&k-

pp whjmp bh, wyw (5.2°) yuypdwbp hudfwpdbp (D) - nuf npnYwd

U(x,y) pmulghujh gmmppubp, npp pwdwpupnl b hujwuw-
pouwfbutph htwvbju hwdwwpght®

oU(x,y)
ox

oU (x, y)
oy

=P(x,y)
63)
———=0(x,y)



fuwbth np P,0eC(D), 63) - h U(x,y) nwnuip Yihth gh-

dtpthghyh:
PEnpkd 5.1: Lphy ghdtpbughwbtpny (5.1) hwjuwuwpdwt puinhw-
tinip hmnkgpuyp nith hbwbjw; whupp*

U(x,y)=c, G.4)
oU(x,y)
oy

Unmgnignud: Thgnip y = y( x) Imblghwmb hwinhwuwbnud t hy-
np X dhpuwljmppnud (5.1), mplidh bwmb (5.2° ) hunjwuwpdwb jpdm®

dU(x,y(x))EO xeX):

Ujunnbnhg uwnnwbmy khp* U(x,y(x)) =c(xe X):

Thgmp uydd hmjurwyp’ _)7 = y(x) Pmiulghwt npnply t 5.4) -
kg U (x, y(x)) =¢ (x € X) (bhuwunkip, np pujupupjwd b whpmgm-
hujn niyghwutph ntumpyub popnp wupdmbbbpp ((71,[9]): Mpbd®
au (x, y(x)) =0 (xe X), npb i bpwbwlynud &, np y = y(x) Pmbily-
ghwb pujupwpmay k (5.1) hwjuwuwpdubp: B

Uwhdwbnud 5.1: Ywubbp, np (D) wnhpnypp vhwywmy k, Epk hby-
whuh whpunhwn thwy Ynp b pptbp ( D) - nud, bpwhny umhdwbw-
thwljjwd nhpnypp yupntbwymd k (D) - nuf:

Uwp. whwihqhg bwynth & op bpt (D) thwiuy whpoypnud
f(x»), 5 (%,) pmulghwmbkpp whptghunn kb, wuym

2 [1u)as= [LE i it (5.9) € (D) s

Ptopkd 5.2: qumpp,%y{, ,%%e C(D). (D) - b vhujuy
whpnyp k: Npybugh (5.1) - p thth |phy nhptpkighwiblpny hunjwuw-
poud whbpwdtiow t b pujupwp htnbpo) wywydwbp®
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an,y) aQ(x.)’) ((xy)e(D)): .(5.5)

Uwnjwugnignu: Uhhpmdkzmmpjmh: Spywd k np (5.1) - p {phy nhdpk-
ptbghuiipm] hwjwuwpnud t: Uuhtph' gnpmpmb muh (5.3) - h

U(x,y) o ((x,y) (D))

(U (x,7) _ P(x,y): 5o
& ’
oU g,y) =0(x.): 6.7)

(5.6) - h bplnt bpht Ynnuip wdwmbghbp puwn y - b, (5.7) - b o Yooy’
puw X - h: Yuunwbwbp®

U (x,y) _ oP(x, y): 5.8
Oyox oy

8'U(x.y) _90(x.). 59
Ox0y ox

futh np (5.8) -h b (5.9) -h wp vwubpp whpinhun th, wyw
whpnhwwn kb bwb dwju Ywubpp (ounp wdwhguujukpp), npbdh bpubp
bnybwpwp hwdpuljunud B ([7],{9)), wyuhph &hpnn £ (5.5) -p: @

Pujwpwpnipmb: thgmp U (x,y) - p pajuwpupnud t (5.3) -hb,
wjuhtph &how &b (56) - b b (5.7) - p dkpghm] Yuduymfwb
M,(x,,5,) € (D) Y, I,mhhhmup twb hwnlyuy wwptwibbpp

& (M)=P().Z(M)=00): G0

Stutiktp, pt U(x, y) lmbnuln hipytu t wprnwhwpnmd P, Q

dmbyjghwmbtipny: Nphg htwn, wdwighiny hbkoumpunlp Ywpnn Ghp
gnyg ] hwjwnwyp' np wyh (5.3) - h jnudnudl k: (5.6) — nud hwuwnwnw-
qptlp y - p b punkgptbp punn X - h, Junnwmbwbp®
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U(x,y)= j:P(x,y)dxﬂp(y): (5.11)

Ujunntin hwogh wpwbp, np hnbkgpdwl hwmuwnunnihp Yupwd sk
x - hg, payg, pinhwpwybu wuws, jupjus £y - hg: Uswhgkip (5.11)
- h tpyne hoqup pun y -h b hwygh webkp (5.7) -p, junwbwbp®

Q(x, y)sgay— jP(x, y)dc+¢'(y): (5.12)

Ujuntnhg' 5
P (x,
o' (y)=0(xy)- I~%-y—)dx57’(x,y): (5.13)

8nyg wwitip, np hpwhwinwd ¥ (x,y) pnthlghub Gujujws sk x -

0¥ (x,y)
hg. wyuhtpt® _—6x—_ =0: Ptopth yupfwbbkph wejumpjundp,

hwnjh mphtym] twl (5.5) bnybmpym bp, vnwbnuwd Gup*
8¥ (x,y) _ o0(x,y) 0 I:?Q(x,y)d’c -

ox ox ox ox
000 006y) o
Ox ox '
Mpdu

)= o) LD i

Upuughuny*
OP(x,
U(x,y)= jP(x, y)x+ J{Q(x, y)- j—(a;—y—)abc]ay: (5.14)
Utinud £ uinmghy, np (5.14) - ny npnpjud U (x, y) - p pajuwpupnud
t (5.3) hunfwljuipght: Ppnp'
u )2 =
o (x,y)=P(x,y)+ ]( e (x.») % (x,y))ny P(x,y)+c,

npuitkn ¢ - b hwuwnwwnnh t: 2wnth mnbkny (5.10) - p, vinwimd Ghp*
~21-



% x,y)=P(x,y):

Unyh Yhpw wyyugmgynud t, op %U-(x, y)=0(x,y): =

Thunnmpmih: Zwpth wnbkn] Ywp. whwhghg hwjnuh Ynpughsd
pwntgpuyh htnbgpiwh {wbhwuwywphhg whjwje (huEm nkbumpynip

(719D, U (x, y) Inmiyghwts upkih t qutity hbwnbyju) puunnnupyudp:
dkpp bowsd pinptvh wupdwhbtphg htwninuwd £, np

| P(x.y)dc+Q(xy)dy unpughs phwbopup Yupadud sk
(4)

huntgpumb &whwuwphhg, wy Yuhjws b dhugh 4, M € (D) Yhunk-
phg: Muwh, tpk hwunwunwmgptbp 4 (xo, Yo) Jtwnp b Jpghttp thnhn-
Muwymb M (x, y) Y, wyw npotth U(x, y) $mbyghwb ihth

M(x,y)

U(x,y)=A( I )P(x,y) dx+Q(x,y)dy:

bpk A(xo,yo),B(x, yo),M(x,y) ptyup wwpnibulymd t
(D) -nuf, muyu’

U(xy)= [P(E. 901 + [Q(xmin:

6.9018NRRBUL b4 UPUUNRRSUL REALGUT
Y = [(x,y) 2UdUUUCUIL 2UUUe

Whgnp (D)=[x,-a;x,+a]x[y, ~b;y, +b] mnqublgmbh t
Bupwnpbip, np* f € C(D), npuktmhg hlnbnud £ Brr(tg)xl f(xy)=M:
THhwnwplkbip htalyuy Ynzhh utmhpp
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{y' = (%), 61)

y(%)=yy: 62)
2hwpujnp k Gplme nlygp*
1. M=0 = f(xy)=0: U nbupnud (6.1), (6.2) jutiyph (ntdnufe
v y(x)=y,:

2. M > 0: vywmhwlblp @, = arcigM (1ga, = M):
Cuwn (6.1) hunjuumpuwh y(x) msuwh bphypwympwlwb vEhw-

pubnipjul, npobbtth pusdwb qpudhljh (hinnbgpuuyht Ynph) jmpw-
purbyymp fEnmd nnupjud onswthnph (mnnnipjut) juquus @ whlyym-

tip 'Ox wnwhgph htw wjbwhuhb k, op Ia l < Iaolz U upuun&unny

Y <
Yotb i
(Y
%
yob
—-» X
0 Xo-8 Xo-C Xo Xote Xota

vy.2

htwntgpuyught Ynpp sh hwwnh (D) - h hophqnuwywb kqptpp, tpk
[x = x,| < ¢ (nbu ly.2): Cly npmf, pun bYy.2 - p*
-23 -



b b
=/ =— =—
M =1ga, . =>c ;i
Yuutlp, np f $mblghwb pujwpumpnd t Lhuphgh wupfmbhh
pun y -, bk’
3L >0, V(xy,).(x.y,) € (D) &hown t htwnbyu yupfmbyp'
|f(xr}'/)‘f(x'yz )l <Ly, '.V2|’ (6.3)
LUjuuntlp, np Lhuphgh yuwplwbh mknh nmbkbwym hwdwp padu-
pup t, (puyg ny wbbhpmdbow) np f (x, y) -p mutbtw umhdwbwihuml
wbwhgm puw y- h' ‘f; (= y)‘ <L ((x,y) e(D)): bpop, pun Lw-
qputidh Ykpgwynp wdkph pubwdlh*
If(x,y,)-f(x,y,)l = If,' ("”7)“.)’1 -y
< Ll)’/ '}’)' ('7 € (yl;.)’2)) = (6-3):
Thgap A gpulwb phip wybwhuhb & op®
0<h<min{a,-:7,—i-},|ml|‘ X=[x(,—h;x° +h]: 6.4)

Pnptd 6.1 (umpwh b vhuympputb): bpt feC (D) b pufu-
pupnwd & Lhuyshgh (6.3) yupfuitiht, wayw € (X) quiunud (6.1), (6.2) Yn-

2hh Jutiphpp nibh nudnud b wy dhwy t:

Uwugnignud: Luju phpkbp (6.1), (6.2) tnphpp huwndwpdtp htnk-
qpu hwjuwuwpdub:

Thgmp y(x) - p (x€X) bwbnhuwbmu k (6.1), (6.2) jtiyph -
dnud: Muhkhp®

y ()= £(6.y(1)) (t€[x:x].xe X) (65)

((65) - hg bttt &, npy € C'(X)): Punbigptyny (6.5) - p b hwpfh
wnltny (6.2) - p, junwbwlp®

]y'(‘)d'E xff (6y(0))at, y(x)-y(x)= ]f (ry(1))ar, =
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y(x)=y+ ]f (r.y(r))ar: (6.6)
Ujuhlipl, y(x) - o hwinhuwbnud
y(x)=x+ [£ (L) 67

phunkgpuy hmjwumpimb jpudmd C (X ) nuunud:

thgmp wydd hwjwrwyp* y(x) -p ( yeC (X )) pujwpupmd k
6.7) hnkgpuy) hwjwuwpdwlp, wyuhtptt &hown t (6.6) tmyunipymbp:
(6.6) - hg htwnbimud £ (6.2) - p: Udmbgkiny (6.6) ~ p W hwayh mrbbyny uyh,

np f (t, y(t )) puny dnciyghwt whptnhwn b, junwbwbp®
Y (x)= f(x.x(x)) (xeX): (6.8)

Upyhuny, uvwnnmgutip, np y(x) - p panjwpupm L (6.1) nhptpkh-
ghuy hunjwuwpdwiip b (6.2) uqptmljut wuplwihi: Chy npnud, (6.8) - hg
htwbm b, np y(x) - p ny upwyh wbpbnhwn b, wy muh bwh wh-

plinhunn mbmhg;ml( yeC'(X )) Ujuyshtiny], Wb t wiuymgmgly, np
(6.7) pnnkgpmy hwjwuwpnuip C(X) nuunwd mbh dnd b wih

dhwyb k: Ywnmghup hingnijwhy iqubwlo] htwbyjw; $nblghntivg hwu-
enppujutnipnibp®

Yo (x)=y, + j f(ty (DB Gy (x)=y)n=12..: (69
Umuhmqnpm:;hu‘
n(x)=y+ If(t Yot =, (x)- 3o <
(mpuwntn ullmp tyhpunty htmoyghwgh tfhpnnn) np’
I () y,ls‘j (3 (t))dt'=';ﬂ £t 7ma (1)) ] <

jMdr SMH<b: Mupqt
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<M|[dl<Mn<b (n=12,..):

[t

Upauythuny juenigymd hwgnppujmtnipjmb whnudbtph gpudhy-
btpp nnupu skb quhu (D) - hg: Unjugmgkhp, np wju Inyghnbiwy hwm-
enppufjuminipinibp hwjuwuwpwywh goiqudpind X - nud ply- np
¥(x) pmtiyghush, npti b hwiphuwbnud k (6.7) ~ h poudnud: Hpw hunfwp
nhwnwplkup htnbyw) suppp’

Vs (x)+[y, (x)-yo (x)]+. +[ 3, (%)~ 7. (x)]+ ., (6.10)
nph dwubwlih gouwiwphtph hwgnppujwimpmibp  hudpblunud
Yo (x) - hhtan:

8nyg wnubp, np (6.10) guppp hujwuwpuywh qniquutn kX - nud:
Ipw hudwp ghwhunntliip (6.10) supph whnudbkpp: (nku (6.9) —p)

4300} 17 (630 0) s|]1f(t,y, (,))|‘11|5Mh:

]lf (&2:(0)-7 (2 y,,)ldt

Xg

ﬂ}’l (0)- }'op‘
%o
Plnniyghuh dkpngny htgwn & wuyugnighy, np'
Y (%)= Yout (x)’ < —Ag-(Lh)" (n=12..): (6.11)

I)'2 (x)- Y (x)I <

<

SL <MLK :

fwth np' 0<Lh<1 (wbu (6.4)), muywm %{-Z(Lh)" owppp qnt-
n=l
quutwn t, htwbwpwp, punn Quytipowpwuh hwpnwihoh (6.10) swppn
hunjmuwpwywth b pugupdul qniqudtn t : Gph (6.10) 2wpph gnmudwpp
y(x) -uk wywm® y, (x) - p hujwuwpwywnh qniquithunmad L y(x) -
pb X dhpwlwjpmd, wyuhtiph®
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Ve>0,3N(¢),Vn2N,Vxe X:

&
y, (x) y(x)|<fi;' 6.12)

fwbh npy, € C(X) (n=12..), wyquw, pun Jwp.wbuhqh
hwpnth ptnptuh® y € C(X) (7)(9)): Ubghblp umhdwbh (6.9) - mul,
twjuwytu gnyg gy, np*

fim fo (t:700 (1))t = ]f(z, N0
& [ O [r(r0)n 0

Oguftany Lhupphgh (63) wuypimbhg b bunjuumpuymp qmqu-
vhumpjut (6.12) yuwjlwbhg, junwmbwbp*
[[7 6202 @)= £ 6y )] <| 17 (634 ()= £ (6, 7(1))|
Xo o

< <

£
<L <—1L
Lh

()= y (et

Ujunjhuny, mhghutyny (6.9) - mu uwmhdwbh, kpp 7 - p dqunud £ mb-
Jtpgh, wwbinud bip, np y(x) - p bwbmhuwbnu £ (6.7) hlwnbgpusy hw-
Juuwpdwmb pnudmud: '

Ujdd wyyugmighip imbdwh vhwympmbp C (X ) nuumy: Thgmp
(6.7) - p mbh kplnr ¢(x),y/ (x) oudnud C (X ) nuunud: Ujuhtiph®

Idth£h=s (n2N+1):
. h

P(x)=y, + ] f(to(e))t (xe X) (6.13)
\ %o
y(x)=y+ ]‘ f(aw (D)) (xeX): (6.14)

-27-



Loubraalitynd ¢(¢) = @ (#) - (¢) . oquftiyny] Lhujohgh wupfwibhg b
hwtkjny (6.13) —hg (6.14) - p, junnwhwbp'

B <17 (60(0)- 1 (6w () < 2| o o)
<L|g|n (xe X). (6.15)

npukn” ¢ = ;?ax|¢(x)i (tnpd @): (6.15) - hghtwtmu t* ||| < Lh|g|:
btpt Khpunptbp, ||¢|| >0, muyw Yunwbwbp' /< Lh , npp hujwumd t
h - h pupmpjutip (nku (6.4)): Mpkdh*

I¢l= t;tax’gt(x)l =0=>¢(x)=0=>p(x)=y(x) (xeX):m

Yhunqmpmtb 1: Ljuuntlp, np pinplh wupmgnygp nwjhu k bwub
JUtpnn boywd YUnpghh htnhpp Unwnundnp imbkinm hwdwp: Fpw hwdap
yhwnp L hwoky (6.9) pmtmndum) npngyny Uninupynudbtipp, npp phpmud &
npnpwljh hnbgpuitiph hwpydwbp: Auyg hnkgpubkpp Yhow sk, np
&gpunpkh hwaynmud ka: Uju pipmpynithg qbpd E gnimpjub U dhw-
Ympjub phnptdh Uk wy wywgnyg (hwdbdwwnwpup pupn), hkbgws
Eqtpp piwbtph hwenppuwbmpyuh dkpnnh ypw (1))

<L <

7. UWOUNLSBULP LUYUSUUUR 2LNAOYUD HMhIEIELSPUL
2uquuucaruuer

. Udwugyuh bjundwdp yjmdjwmd nhphptughuy hwywuwpnudp
mh htwnbywuy wbupp®

F(x,y,5')=0: 7.1)
“thgmp, npnbith $mitiyghwbt punjupmpnd £
¥(%)=, (7.2)

wuydwbhb: Hhwvwphthp F (xo, yo,z) =0 hwbpwhwpjujut hujw-
uwponwip b nhgop wyb nith Z, |nudmudlbp®
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(F (%5, Y0, 2 )=0,k=0.1,...): Canptbp wyn imsnufbbphg, ophtmy
2, - b: Upuhbpl® F (xo, Yo zo") =0: Mpkl, phwljmb t ywhwieky, np

pujupupyh twb htnbyu) gujdwbp
Y (%) =2: (7.3)

Ubpunudktip bymbuynuttbn® M, (X5, ¥,.2,), Ny (%5, 3 ) -

Anmpjut b Yhulmpjut phnptdp wdwmbgpunh bjmundudp ymd-
Jud (7.1) hunjwmuwpdwh huwdwp hkimd | hwdwyunnwuhwb pinptadh
Jpw wdwbgpuh tjundudp msjus y' = f (x, y) hurjuwuwpdwt hw-
dwp b dwp. whwihqghg hwpnth whpmguwhwjn $nibljghwbtph nbump-
jub Jpm ([7),[9]): Quwykpybkbp uwyn wbumpjub wyb ptnpbdp, nphg
yhiwp t oquatiip:

Plaphd 7.1 (mbpmgmhupn $mblghuyh gnymppnt b vhwinppnb
dwuht): -

Thgmp npjwd k
F(x,y,y)=0 4
hujwuwpmudp, npnty  F, F, »F,, F, $mulghwbtpp npnpjmd kb b
whiplnhunn My(%.¥5,2,) Yedh phyop  ppewbuypma,

F(M,)=0,F),(M,)#0: Up ntupnui, gnmpmit mbh N, (%5, ¥,) -
twnh U, (No) opgwluyp, uybyihuhtb, np wygntn (7.4) hwjwuwpnuip
npnpmud b uhwl whpugwpn pmblghw

Y =f(xy) F(xnf(xy))=0(xy)eU,(N,).
wiwhuhh, ap'  f, £ €C(U;(N,)). f(Ny)=2,: Ubmbghyny
F (x, »f(x y)) =( wyhmpnibp pua Yy - h, uvnwhmd tbp*

Fy (5.3, f (5.3))+ Fy (53,1 (%)) £ (x.y)m0=>
_22’;:;23;; = f'eC(U,(N,)).

(tpt hupljuninp t Yuptgh t & - b hnppughiy):
-29 -
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Pinptd 72 (qgumipmbt U Yhwimpmbt ptopldl wdwmbgmuh
bjuunfudp ymdjwd nhdtpbbighwy hwjwuwpdwh hunfwp): Yhgnip
F,F,,F,, F, pmiuyghwitpp npnzyws b b wbpinhwa M, (%0, ¥, 20)

ytwh hby-np oppwlywppnud, F(M,)=0,F M (M,)=#0: Uy nhypmd

(7.1) - (7.3) tphpp X, Ytwh hby - np U, (xo) oppwwpnud mbh
odnud b wyh vhwyh k:

Ugyugnigmu: Lwbh np wnh mbbku bwhnpn ptinptth pognp wywy-
vwbbbpp, wyw gmmpmt mbh N, (x,, ¥, ) Yewh U (No) ongwljuyp,
uybughuhl, np wypuntn (7.1) hajwuwpnudp npngmud £ dhwy whpuguyn
$nyghwm ' =f (x, y) , npb mup hbuljwy hwnimpmnbbtpp

f.f € C(U, (No)),f(No)= z,: Uyl oqutbp qnmpjub b Jhw-
ympjwt phnptuhg y' = f (x, y) hujwuwpiwb hwdwp: Ush puthg,
mp f € C(U‘, (No)) htwnlnwd t f) € C(ﬁ% (No)) wwylwbp, npp
howbwynud t, np fy' - p uvwhdwbuhwy t U % (No) - nwl, hkwbwpwp
J - o pajwpupnu £ Lhujohgh wupdmbtht: Ujuyhuny, pun qoynipput b
thwynipjwmi ptnptdh, (7.1), (7.2) punhpp mbh mdnud y = y(x) b wyb
vhwyb t x,- h hty-np U, (%) 2ngwlymypnut: Ujuhliph®
Y ()= (5 9(2))s €U, (3). (23 () €Uy ().
¥(%) = yo:

fubhnp, F(xy f(xy))=0(xy)eU % (N, ), wym duutugn-
puygbu’ F(x, y(x),f(x,y(x))) =0 (x eU,(x )) , mptaf y = y(x)
- p pajwpupnud k (7.1) hwwuwphwtp:

fwbh op' Y(x)= f(x,y(x)) (x eU, (x,,)) V(%)=y, U
S (%9, %) = 25, wupu unwtinud Gip*

y'(xo) = f(xa:}'(xo)) = f(xm}'o) =2z,
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Uyjuughuny, punjupupyowd b bwb (7.3) gqupwbp: Mhgph jmddwh
dhuynipjnibp htnbnud k wyywgnigdwh ypngbuhg: @

Uwhiwimud 7.1: Yuukbp, np (7.1) hujuuwpiwt y = ¥(x) punuip
tquih ndnwl & tpt bpw qpubhh mpupubymp Y] whghnd t
nyh hujwuwpdwb Uk wy y= y(x,c)l_mbnu.[. wybyhvuht, np wmy
wnnuwd Epym imdnudbbtph gnounhnnbibpp hunfulunud G, wyuhbph’

Vx, : {7(")("0) = y(x5.¢)
0°)—, _
Y ()(%) =¥ (%.¢)

NMupq t np kquih mdmd (hhkm hwdwp whpwdtow L, np

jwjuum]ku bwjunpy pinpivh wwpdwbbkpp: Ujuhbph kquh jmémdp
pUwuwnn mbh npnubk hbnbjuy hundwpgh msnuwlbbph quund®  (wyy

mubnudutiph qpubhlyutpp wijwimd i ghujphdhbmtnnoght Ynptp)
F(x,y,¥')=0 '
F (xyy)=0
Thuljphdwbnwhh Ynpp qubknig htivin whwnp b bwe hudnqyk) np
wylt hpimnkgpuuyht §op k&, wjinthbnb vnmqgby, np wyt panjwpupnud

(7.5) hunimjwupghh:
Ujdd phiwupyklp wdwmbgph tjuwnduwdp yymédus (7.1) hunjuum-

pnudp htntiqplm Ukpnnutpp: Yhunnuplytbp hbnljuy nbypkpp®
L. (7.1) hujuwuwpnuip mdynud £ '~ b bjwudundp (pkymq ny
Uhwpdtp):
Ophtmy 7.1: [mdly ( y')’ +_y2 -yy" -’ =0 hujuwuwpnulp:
Qlpnistyny wpuunphshtph, junmbubp*
Y2 (¥ -y)-y(y-y)=0=>(¥-y)(»*-»)=0: mpr
[y y o
Y=y
Nupq t, np y =0 ndbmud k: 2udwplym| uwpdy, np Y # 0 b whowm-
nlkny thnhnjuwlwbbbpp, funwbwbp®
~31-
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Ujdd npnuikup tquih ipudmdubpp, twiwugtu npnokinyg nhulyphuh-
twiwnughb Yoptpp: dpw hundwp hwplundep b mdk; hknbyuy hundw-

Yupgp®
() +y* - -3 =0, 7.8)
3(y) -2py'-y=0: 7.9)

futth np (7.8) - p hwdwpdtp k (7.7) - hb, wmyw (7.9) - hg vnwbhmd

bhp
y=0 Yud y=1I: fuyg wupq kop y=Imbm 3t: Ujuwhuny,

tquhh jnusnud (hitgm nbuwblynbhg Ywuywsth b dhwp ¥(x)=0:
Utnwd t uwnmgly, np i(x)solmbmdp kqubh & Ujuhph'unnigly
htwnyw) yupdwhbbtph hpujwbhwgnudp'

2
(x—2"+c) =0
Vx, D,

2(ﬁ + c) =0
2
Uyunhuny* P(x) =0 bquih ;oudmd &
2.(7.1) bujwuwmpnuip mjnud £ y - h bjundundp®

y=f(xy) 7.10)
npukn f - p ghphpktgiih $mblghw & bpk bwbwkip® y'(x) = p(x).
uwju (7.10) - p Jupmbh htnbjuy wnkupp*

y=f(xp), @.11)
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Ubwbugtym] (7.11) - p b hwoth weblny Bowhwynudp, Juuw-
twtp' p= £, (x, p)+ £, (x, p) p': Uningltg wdwmbgpuih Wywunfunip

mjmd hwjwuwpmud: Gpt wyt hwenmyjh jmdky) b vnwbuy p = p(x, c)
pinhwimp nwnuwip, wyw (7.11) - hg junmbwbp (7.10) hajuwuwpdwb

phphwlnyp bnulp’ y = f (%, p(x,c)): Pul, bpk hwgnmih qubly
vhugh x = x(p,c)nusnudp, wuym (7.10) hujuuwpdwh nusnudp Ynpdh
x=x(p,c)
y=1(x(p.c).p)

Ophtrwy 7.2: Umdty y =In(I+y") hujwuwpouip: Uhpinuby]
¥'(x)=p(x) vpwbwlynutp, yunwhabp' y=in(1+p’): Usubghym|

- 200
unugjud hmjwuwpndp mukbimbp* p = ] +p£2 : Upunbinhg vinmbimd

yupudbnpuymb wnkupm]* {

bbhp, np ud p=0= y =0, fud

=—arcigp=—+cD>p=1g| —+c|:
p2+1 2 & 2 p=i 2

b Jtpgn, uvnwmbmd Ghp' y = ln(l +tg2 (-;— + c)): Ujdd npntkhp

bquljh {nudmudhitipp, twjuwytu npngtiny nhuljphdhtwbwught Ynpkpp,
npnbp npnaynud kb htiwnbyu hwdwljupghg®

y=1n(1+y")
’ :>y§0:
2}’ > =0:>y'=o
1+y

y=0 mdnuip kquyh t, tptk wh pujwpupmd t htwnbjuw) hwdw-
Yupght®
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i (ee))-o_
{0

Wuuhuny, (x)=0 tquyh b t:
1. (7.1) hujwuwpnudp mdymd £ x - h hljuwundwdp*
r=1(0Y). an
npwnkn f - p nhptpthghh Imilghw t: Epk bywhwykip:
Y (x)=p(») (p(y) # 0) , mupw (7.12) - p Yplpmbh htnbjw) nkupp'
x=f(»,p): (7.13)

Zwph wnkyny, np X, = ;{'- = ﬁ , mbwbgyny (7.13) - p pun y - h,

2 4

1 " '
Juunubwbp* -p— = j; ( Vs p) +f » ( » p) pP,: bpt unwugimd hujwuw-

poulp hwgnnqynud & nwdty p - h hllmmdmdp( p= p( y,c)), wuju

upjwd hwjwuwpdwh pinhwimp (ménudp hth' x = f (y, p(y,c)):
buy tpt hwgnnymud t uvnwgjud bunjwuwpnuip sty y - b ujun-
dundp ( y= y( p,c)) , wmyw (nwdnuwip hupdh ywpudbnpuljub wnku-

my x=f(y(p.c).p), y=y(pc):

Ophtmy 7.3: Lmdky 2xy'-y=y'in(yy')=>x= —z’yi +§In( »')
hunjuwpnulp: bpb bpwbuibtp® ¥ (¥) = p(¥), wum Gunwbubp’
x= -2% +1 In(yp) ( p #0): Usubglyny winugiws hunfwuwpnulp puw

1 '  ptyp y-p_p-y
- s —= St Yud® -
Y, fpun mhp 2p 2 p 2py  2p
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1 1 1
Zvwpunp k bphm plup’ Yol p=y=> x=3+31"(P’)=3+1"|P|,
Yud® p # y, uyn nhypmud, vinmbmad bhp'

» 2
i’f.:-gr.=>ln|p'=-ln|y'+lnlc|=>p=£=>x=—y—-+ilnc:

(7.11) wbuph hwuwpmubbphg wrwdbwimd ko x - b hjundundp
qbdunhb, wjuybu Ynyws, Lmgpmbdh hajwuwpnudutpp®
y=xp(y')+y(¥'), npwtng — b,y - u nhphpkbghih pmblghmbbp kh:
Ubpumbdlym] ' = p bpwhbwynuip b wdwbgkym] y = xp(p)+y (p)
hujwuwpnp pun x - h, junwbwbp®
p=0(p)+x¢'(p)P' +y¥'(P)P':

Onjubing wijwu hnpnjawfwbh b npnbth nibjghwbitph pbpk-
p yunwtwtp' (p-@(p))x' = x0'(p)+¢'(p):

Lowtiny wju gdujht hwyjwuwpnudp, junwbwubp imémup yupw-
dbnpuljuwb nkupm]* x = x(p,c),y = x(p,c)¢(p) +y (p): Yuwpbnp k&
wpu hwjuwuwpdwh ywubuynp gtypp, wjuytu §nyjwud, Gikpnjh hwjw-
wupnwlp' y =0+ ()'): Uphbny bwjunpy uinnno-pybbbpp,
Junubwbp*

p=p+xp'+y'(p)p' = p'(x+v'(p))=0=>p'=0(p=c),
jud’ x=-y '( p) : p=c¢ nptypht hwdwyunnwupwbnd t
y=cx+y(c)mnhn gdph plnwbhpp, puy x=-y'(p) nbwypmu
mbtbp' y=px+y(p)=-py'(p)+v(p): Uwnwugludp Yhbh
(oo, kpk wuwgngkhp, np y'(x) = p:bpnp°
Y=p+xp'+y'(p)P' =p-v'(p)P'+v'(P)P' = p:

Ophtmly 7.4 : Lol y=2x) -4y’ hwjwuwpnup: Ukpimbtym]
twbwymd* y'(x) = p(x), wowbtnud Ehp' y=2xp-4p’: Ubwlghym}
pun X- p, Yuawbwbp' p=2p+2xp’-12p°p’: Lwju tjunnbbp, np
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p=0 = y=0 wpu hajuuwpiub mdmd k: Ujinthtnb, hudwuptyny,
np p#c¢ bihnjutgny x -h b p -h ghiplpp, junwbwbp X - h bjundwudp
qbunht hunjwuwpnud px’ = 12p? - 2x : Lwju (mudmud kbp  px’ = -2x hw-
dj
dwutn hunjuwuwpmdp® ﬂ =2% =>x,= _c_‘}_ : Mupq k, np ny hudwukn
x p p

px' =12p% - 2x hujwuwpnulp mbh x = ap’ wkuph mémul, nph {
wubknunpting hujuuwpdwh by, gnbnud ip @ = 3 : Ujuyhum] ny hunfw-

ubn hujuumpiuh pighwbmp énuip Yhih x = — +3p: Mpkf,
p
ujubwub hujuuwpdwb mdnudp fupth yupudtinpumb nkupny

x=3p'+<,
p

y=2"+2>
p

Mbkbp tulk y =0 dwubwynp jmbnudp:

Ophtwmy 75: Lndty y=xy' —Iny’ hwjwuwpmup: Lkpdmdtyny]
tymbwynul* y'(x) = p(x), wnwbnud bhp' y =xp—Inp: Ubwbgtny
puwn X - h, junubwubp'

’ 1 ’ ’ 1 ' . 1
p=p+xp'-—p'=>p (x--)=0=>p =0(p=c) yut p=—:
p p x

Uunwbmy tup pmdnufibph y =cx—Inc pwnwbhpp b dwubunp
¥y = I+ Inx imdmu: Npnhkip quyh jnudmudutpp: HYhuyphuhbwbnwhb
Ynpp Ynpnyh htnlyuy hwdwlupghg®

y=xy'-1ny',x—l,=0=> y(x)=1+Inx:
y
dbpghtyny Vx, >0 uwnmqgkip np mdnudp kquih L wjuhbph’
1+Inx, = cx, -Inc, I, ¢, npp &vwphwn & Uuwpum]' y = 1+Imx
%o
ndnudp kquiyh t:
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1. 4N8NhP8UL &Y UPUUNPESUL RENANEUL LNCUUL
2UUUUfer 2uuur

Unwgphl jupgh nhdtipkughuy hwjwuwpnuiutph tnpdwy hwdwpg
k Yoyynud hwjwuwpnudbbph htnlbyu hwdwywpgp'

Yi=f(xyn )
............................. : 3.1
Yo=rf,xy.-5,)

Upu hwdwmlwpgh imdmu wubiny bwuwbnd Bhp y, (x), wer YV (x)

$mubiyghwbibph wybwghub 72 ~ ruy, np bpp Y, (x) (k= 1....,n) $mblgh-

wbkpp wbnunpnud tbhp hudwywupgh dtp, wmyw hwjwuwpnudutiphg
mpuwpubympp guobnud b inybmpb x, Ynh hby - np sppwlfuy-

pnud: Bupwngpynud t, np uyn pmtyghwmitipp pajupupoud G htwbyuy
ufjqpbwjul wupdwubbph® (YUnohh juinhp)

yl(xo)=.}’m-~--'yn (x0)=yn0: 3.2)
(3.1), (3.2) Unghh jnunhpp Yuptih t gply hudwpdtp JEjunpmljmh
wbkupny: Thgmp'
F(x)=(5(x) 1 (), T (5)=( ()i (5).
F(x)= (f, (x,f’(x)),...,f,, (x,)-’(x))) Yo = (V100 Voo )
(3.1), (3.2) Unghh jtmhpp Yqpyh htanlywy hunfwpdtp Yepy®

Y (x)=F(x¥(x)). ¥(x,) = Fo:

Ulunnoud Bbp, np klmnpulyub wbupny qpdus Unghh hhnhpp
fwt b wppkb munwfbwuppwd vwjupgup ghypht huminywnwujowh

Unohh jubgpht, ntunh ppklp wnmbg wygwmgniygh unpuwy hwdwywupgh
hundwp (3.1), (3.2) jubnph goyntpymb b vhwlnipjwmb pnplidp, twpuubu

bpunibbyny hnlyu bpwimynwip® M, (x,, Y, ) = (%o10r-Vmo):
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Ptoptd 1 (gnmipymb b vhuimpyob): Thgmp'
£, €C'(U;(M,)) (k=1,...,n): Up nypmd B.1), 3.2) Unzhh

Jntnhpp mbh pudnud
y,(x)seer 3, (%)) b uyb vhwy t C! (U, (xo)) (7 < 6) nuiumat:

IV. fULQr QUMSk 1RS6CHLWHRUL 2UdUUUrnrULLe
Yhunwplkip wdwbguh tjuududp mdyws pupdp Yupgh ht-
wuhju) nkuph nhptpighw) hunjwuwpnudp®
¥ = £ (22,800 y0): @4.1)

NMuwhwbeymd t, np pmdnufp pudwpwph htnbjuy “uyqphwfub”
wupwbbkpht'

y(xo) =YY (xo ) = J’m:--vy(n.’) (xo) =V (4.2

(4.1), (4.2) Unphh junhpp phpkbp tnpdw; hudwlwpgh, bbpumstynyg
htanljuy owmbwmlmuubkpp’

y(x) =5 (x),y (x) =5 () = 3, (x). ) (3) = 5, =, (%)
Uunugynu! t hunjwuwpnufbbph htwbyw) hwiwjwupgp’

(y,’ (x)=2(x) = £,(% 2152 7,)

% (%)= (%)= £ (221505 3)

OO , (4.3)
Yo (¥) = ya (%) = £ (%2050 7,)
Vo= S (% 20-90)
pujwpwpng htnbjug gpwpiwbbbpht®
Y1(%0) = Yigreees Ya (%) = Yo 4.4)
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Uunnkbp, np (43) - h wg duwh f; (k=1,...,n—1) qduyhb pniby-
ghwbkpp  wpbinphwwn kb hpklg wdwhguyubph htw  Jhljunty’

o, 1Lj=k+1
D =17 : Mptafh dbnuf t upwhwbghbp nity thuyh £ - hgpu:
a, 0j=k+l

Ptophl 1 (qumpput b Vhwympput): themp f € C' (U, (M,)).
nmnkn M, = M, (X, 19,--Y0 ) : Uiy nbwpnut (4.1, (4.2) Unohh hitinhpp

muh joudmud b wyh vhwlya t C” (UY (x, )) (7 < 8) nuunu:

Ugugmgnui: Ptoptuh  wwpiwmbbbphg hknbmd k, np (4.3)
hwdwlupgp, (44) wwpwbbiph welumpudp mbh  ndnud

y, (x),...,y,, (x)) b wjb dhwlh k C'(U, (xo)) (r <5) nuunwd (nku
Il p.1): Uwyugmgthp, np y(x)= ) (x) $njghwmt hwbnhumbiowd k
(41), (4.2) Unghh utnph oubnud: Ppnp*

Y(%)= 51 (%)= yi0s V' (x) =% (x) = 3, (x)= ¥ (%) = ¥

WP (%) =y, (x)=
(%)= 34 (%)= Yo
I )= (2)= £ (3.7 ):

nddwh dhwympnibp htwbnd £ (4.3) hudwlwupgh hundwp
jatnph y, (x),..., Y (x) mduwh vhuympmbhg, npp tpwbwlynud £ np
vpmyh tbwb y(x) =y, (x) pniblyghub: =

Ujdd mumdbwuhpbbp pupdp Yupgh ghdbpkhighuy hunjuwuwpnud-
tkph Yupgp hokghtim ukpnnbkp: Ywpgp Yupkh b hebghly htanlyuy
pliypbpmud*

1. 2ujwuwpiut by pugulumd kb 3, ..., y*), wuhtiph hu-

jwuwpmyut mbh hknljwy wbkupp' F (x,y(", y(“') ,...,y(") )=0: bpt
tbpumbdktp tywhwiynwl y(k) (x) = z(x), wyu hwjwuwpdwh jupgp
Uhobh k - ny:
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Ophtmy 4.1: Lmdty )" = y' —xy" hwjwuwpnuip: Lowbwybbp
¥'(x) = z(x), yunwiwbp'
dz 1-x

ﬂ'=2(1-x)=>7=7dx=>1n|z|=

=In|x|-x+in|c|=> z=cxe™ = y* =cxe™:

Utinud t Epynt wbqund hhwnkgplp uvnwgyudp, Yund oqundly uninpl
nmpu phpynn puquuywinhy hinnkgpuith vhwywunhyh pipkn puba-
dlihg (nbu V (2.1)): Oqujtup Ykpghtihg, junmbwbp®

y=¢ I(x-t)te*dt +ex+ey:
0

Yuunupbny ywubpny hinnkgpnud, h YEpgn uunwtned Ghp*

y=c,(x+2)e* +c,x+c,:

2. Zujuuwpdwh dkp X - p puguwhuyn sh dwubmlgmd: Uy nhy-
poud hwjuuwpdwh jupgp dEyny Yhebh, tpk juwnwpbup htnlyw bpw-
twynudp' Y’ = z( y) : Uighbiny wéwbgnudhg punn x- h wdwhgdwmbp
puw ¥ - h, junwbubp’

L4 (] () ! ~ ’ ! ( » (4 2
Va=2,y.=2-2y"=(z -z).y -y, =(z -z+(2') )z,...
Phyyjtiu mbubinud Ghp tnp hunjwuwpdwh Yupgp dkim] hounj:

Ophtuwmly 42: Lmdly y’ = y?:- y" hwjwuwpmup: Uughtiny tnp
npnbbih $mblghuh z(y) =y, 0% =2y, =z'-z). npubn y-p tnp
whywju hnpnjuwlwbh ghpad b Yunwbwbp® y2'z =27 -2°:

Vquwntyny, np z=0('=0y=c), z=1('=ly=x+tc), m-
soufbitp Gb b hunfwplny, np wpnkh z#0,2 # /, whgwwnbjny tnhn-

jhmjmbbkpp, Yunwbwmbp' d =—dl: Puatqptym] juwnwbwbp*
z(1-z) y
z .z cy
In|—|=In|y|+njc,|, yud* —=¢,y: U voz=—
nl—{= Iyl +inje|. gt —=—=c,y: Upnalnhg vy
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+1
f® %: c‘;i 7 = c’: " dy=dx: Punkqphin], Yunwbwbp'
! 1

y+cdn|y|=x+c, (Wunbbp, np wyu mdmdbkph vbp fm y=x+c
imdnudp, puyg y = ¢ indnudp whnp b wnwbidhb tipky):

3. Yuwpqp ukyny Yheth, tpt hujuuwpdwb dwju b we vwubpnd
hwgnnymu t wnwpughtp \phy wdwmbgpuyutp:

Ophtmy 4.3: Lmdly " = y'( y' +1 ) hujuwuwpmdp: Ujh bkplu-
jughkiip htwnlyuy Ykpy®

’ 1 ¢ ]
(y_'+l =L @y +ly =)y =y +i=cy= Y _ .
y+l y c,y"l

Ljuwnthp, np pwdubdwh  wpngbunmd  Ynpgpkp  Bhp
y+I=0=>y=-x+¢ u y=0 ménufubpp: blwnkqgplim
dy
cy—1
In|c,y~li =lnc,+cx=>cy-1=c,e”;y=c-xy=0:

= dx hunjwuwpnudp, junwbwbp'

4, F(x, R y(")) =0 hunjurmmpifurh Yupgp ymy Ghebh, tpk
F $mulyghwt hunfwube t y- h b tpw whwhbguybtph bliuadundp:
Uphbph® F (x,ty,ty',...,ty(")) =t°F (x, §25 y(")) (t>0): up

g, 2= 2(x) ' =35,y = Y237 = (7 + 7).

y hnhnjuwlmbhg “wquundmd kbp” stnphjy F(x, VoY oo y"")
$mbyghuyh hudwutmnipjut:

Ophtuul 4.4: Lndty xpp"+x'” —2y)' =0 hwjwuwpnulp: Ugu
bujwuwpdwt dwp Jdwup bpypopn Yupgh hwdwubtn $mblghw
¥,¥',y" \hnpnjuwywhbtph Gwndunip: Vs buntip, np hwjwuw-

pnufh mbp y =0 mdnud: Ujhmhtanb, hwdwptyny, np y(x) #0, wmhg-
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'(x
tikbp tinp z(x) = Y (x) npnbkih $niblghuyh: Ujnntinhg unwbnud bip'

»(x)
yayz)y'=y-z2+y-2'=)y'= y(z'+z’): Stquppbiny hwjw-
uwpuwh vk b Yp&unnkynyg y? - mf, junmbwbp'
x(z'+z’)+xz’ “22=0=>xz'+2xz° - 22=0
(Ftntnyhh  hwjwuwpnudp): Vjwunbbp, np z=0=>)y'=0=> y=c
(nwnwd t: Uydd, hwdwiptyny, np z(x) # 0 \ pmdwbtny hujwuwpdwb
tphyne Yanup 2 Ypuw, whgbbbp ¥ = 1 thnhnjumlwbh, unwbubp gdw-
z

jht xu’ + 2% = 2x hwjuwuwpnwip: Vwju inidkhp hmiwubn du_ %

u X
(o
hujuwuwpnuwip, junwmbwmbp' %, =—: Ny hunfwutn hwjwuwpdub
X
dwubunjnp jnudnudp npnbkhp %, = ax wnbkupny: Skqunptyny hwyjwuwp-
2
duh Ubp, junwbwbp® ¥, = } x : Ujuyhuny*

2

c 2 x
u(xjse—+—-x>2z =
(= 5+dxm sl

3
2 5
d| = !
5 1 (3x+c) (21 )2
> Z=-—— L y(x)=cq| X +tec|
y 2 2p4 3
3

1
= y(x)=¢ (x’ +c)2 >y =cx’ +e,:
Lhunnthp, np unmgyud jmubdwt vbp ujupm bwlpymd kb y(x) =0
b y(x) =¢ punuwhbpp:
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V. pUM2r YUreh QOUSHFL ThEIBWSPUL
2uquuuraruuer

1. QUUSML ONGLUSANE, LI AUCQUSNRSL
2UusunkhesnhuLert
Uwhdwhtup htnljuny oyykpunnpp®

L[y](x) =3 (x)+ 2 ()" (x) +..4 B, (x) ¥ (2).

nputn P, () qupdwijhghbpp tuhruvbu wpdus hpulub wpdbpubh
gmiyghwbtp tu' p, e C[a;b] (k=1...n): fwbth np wdwhgiwb
owtpunnpp gbuyht t, wupw wwpq k np gbuyht t b L owkpunanpp®
Lla-y,+B-y,J(x)=a-L[y](x)+B-L[»,](x). nputn & -t u
B - & huununambubp b, huy y, (;x) -p by, (x)- p 7 whqu
nhbtpbghih Prcbiyghwbitn kb [a;5] - nu:

L[y)(x)= £ (x)

OO (x)+ 2, ()Y (D) + -2 (¥(x)= () D
hunjwuwpnudp, nputy f€C [a;b] Ynsynud t 7 Yupgh qduyhb, ny hw-
Ywutn nhdptpthghwi hwjmumpned:

L[y)(x)=0 (12)

hujwuwpnuip Ynydnud & 7 Yupgh gdmihh, hwmdwmutn phptpkbghuy
hwijwuwpnd:

Zundwukn (1.2) hujuwuwpdwh ppdnuwfitph puqunipymbp bowbw-
yktp A - n: fwbhnp L owbkpunnpp gduyhl b, wyyw wupqbnp A -t
gduyht nwpwbdmpimt t: Zknwquynud gnyg Yuutp, np wih 7 - ywhw-
th E pdwphn Ehtnbjug yhgnudp:

Liddwm 1.1: Thgmp y(x) = u(x)+i-v(x) Inijghwt hwbnhuw-
tmud & (1.2) hudwuwpuiwt punud [4;5] - out, #(x),v(x) pmblyghw-
tikpp hpwlwh wpdbpubh b, i - b jind Whunph k: Uy phypoud y(x)
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mdimt hpuwymb b Yind dwubkpp' u(x) ,v(x) Imuljghwmttpp hwlinh-
uwmbmy b (1.2) - h mdnudubp’
L{u](x)=0,L[v](x)=0 (x €[a;b]:
Unjmgniygmd: fwbh np L oykpunanpp gdbughb kb p, (x) qnpbu-
Yhgukpp hpuywt wpdtpwth G, wuyyw'’
0=L[u+i-v](x)=L[u](x)+i-L[v](x)=> L[u](x)=0

u L[v](x)=0: =

2, RUM2C YUMh QOUSHL HPILIELSHUL 2U4dUUUruuy
FECNRUC YOLSHIUSE PULSEArUL 2Uquuuruuue

Lhvw 2.1 (pmqimuymnhy hihnkqpunh pipnudp vhowmwnhyh):
YYhgnp feC [a;b] : &dwphwn k htnbyjw pubwdbp, npp juynud £

n - wunnhl hnntigpup vhwwwwnhyh htn®

]dl, '}dtz..."]" f(t)a =
(n 1)!; I( 1)1 (1)dt (n=23,..),x e[a;b]

Ungugmgnud: Uyjugmgbp dwpbdywnhjuljwb hhnmyghwh tpn-
nny: Lwju unmgblp, np (2.1) - p §hpwn t, kpp 7= 2: Ujuhbph

[ [£(s)ds = Jx—1) £ ar: @2

(2.1)

Lkpunudkp odwinuly $mbiyghm’
E(s)_:{f(s),aSsSI:

0,t<s<x
Um nbwpnud*



o [ (s)ats = jdsz (s)ds = :Ids‘;[F; (s)it = ]d,‘j F (o)t =
- jf(‘)d‘:"d‘ =]f(~‘)(x-S)ds = :I(x—t)f(t)dt;

Ujuyhumj, (2.2) - p myugmgjud t: @

Thunnmpmh 2.1: Vjwunttp, np (2.2) - p ngnupu phpym pipugpnud
tywbp unfbih piphwbnip hwuwh. bt f(s,¢) Pnitijghwb whpbghwun
k C([a;b]x[a;b]) - o, myyw’

[at [f(s.0)ds = [ds [f(s.0)ar: 23)

Uydd Bhpunptlip, (2.1) - p &hvt £ 72 - h hwdwp, wuyywmgmgblp, np
wjh &hpun hmlt n+l qhu{pm.d U.]uhh,ph &ﬂmp]nn t

_[dt,j'dt, I f(0)dt = —— G 1)| j(t -x)"' f(¢)ar:
Mtanp t mulmmght np
]dtl Idtz... j f(t)dt:—”-—! [(r-x)" f(e)ar (n=23,..):

. :

Jj‘dtl ‘]dtz...'] f(e)dt= ]‘g (n)a,.
- @ | .' | :

g(t,)=}dt,;[...;[f(t)dt:

Cuwn (23)-h°
g(1)= (T}Iﬂ(t, o £ (e

Ujuyhuny, oquntyny bwih (2.2) - hg uwnwbnd bhp*
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]dt, ':[dtz...’] f(t)dr= ('_'—}T)—' ]'dt, l]'(:, —ty™ £(¢)dt =

- j £ (0)a (o~ dty =L f(x ) 7 (0)t-m
Ykpunwunbwbp tinphg
L[y)(x)= (%) @4

hwjmuwpdwbp, nputkn p, € C [a;b] (k =1,.., n), feC [a;b]:
Ykpghtup Vx, € [a;b] U nhwwplktp hknbyu) ujqphulub wwy-
Jwbbbpp’
)’(xo) = )’o:y'(xo) = }’u---»y("-l) (xo ) = Vna? 25)

Ptnptd 2.1: (2.4), (2.5) Unphh jutinhpp hunlwpdtp t htwlyuy dng-
wbpwh htuntigpm) hujwuwpdwbp®

z(x)= ]'K(x,t)z(t)dt + F(x) (z € C[a;b]): (2.6)
o
Uguhtiph, bpt y(x)- p hwbghuwtmd b (24), (25) Ynghh Jutmph

b C” [a;b] nuunud, wyw z(x) -p (y(") (x) = z(x), Z€ C[a,'b])
hwinhuwbnud t (2.6) htnntigpuy hunjwuwpdwh jmdnud, npuntn*

K(x t)E-Zp. (x)(x t,))l_,l- @7
FO)= 1) 59,0 5 ’;;', . e®

b hmjworwyp* tpt z(x) - p hwbphuwbmd t (2.6) -~ h ;mbnud, npintin
K (x,t) Unphqp b ¥ (x) wqun Ywup npnyynud bh (2.7), (2.8) pmbiwdlib-
pny, wmyw y(x) - & opp npooynud | hbnbyw) pubwduny
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y(x)=

I(x 0 2(£)dr+y, + y, (x-x,)+...+
+ (x- xo)”
Yn.1 ( I)’

hwinhuwtmd t (2.4), (2.5) Ynphh jwnph udnud: Cip nponaud wwipg t,
op' K eC(4A), A={(x,1);a$x$b,a$t Sx}, F eCla;b):

Uwmgmgnul: Thgnp y(x) -p (x € [a;b]) hwinhuwbnud t; (2.4),
(2.5) Unohh juunph nudmud: Lhpumbdkup bywbwymd®
y(") (x)=2(x) (x € [a;b]) : 8nyg wwtp, np z(x) - p hwhnhuwbnui
t (2.6) hnkqpuy hunjwuwpdwh jpdmd C [a;b] guiumd: bhwnbkgpbny
y(") (t) = z(t) (t € [a;b]) tnyumpmbp Xx,- hg X vwhdwbbbpmd U
hwnh wrhkyny (2.5) - p, jurnmbwbp’
J(67) (@)ar = [z(e)ir= y (x)= [2(eae+y,.,:
% % %

‘Unphg htnntiqplny winmgyws inyyimpmbp b hwath webhtym (2.1) -p,
bkt Y (x) = I(x —tx(t)dt+y, ,+ ¥, (x-x):

b
Cwpmbwltjny huntkgpuwb ypngkup, junmbubp

P e =L JGot) 200 v+ 3a o)

2
X~X
+yn-l( 2’0) 9esey,

=,

29)

y(x)=( ])/ I(x 1) z(t)dt+y,+y,(x-x,)+..+

(x-x, )"'l
+Y,; (n - ])! (wnugulp (2.9) - p):
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Stnunpkiny uwnwugywdp (2.4) hanjuwuwpdwh kg, junwbwbp np
¥ (x)=2(x) pnrtyghmb pujuwpwpnud k (2.6) hbwnbgpuy hudwuwp-
Jwbp (ntu bwb (2.7), (2.8)):

Thgnp uwydd hmjwrulp® z (x) - p hwinhumtm k (2.6) hbwnk-
qpu) hujwuwpdwt jpwnd C [a;b] nguunw, huy y(x) - p npnoymud £
(2.9) pubwdlny: Mupq b, ep ¥(x,) = y,: 7 whqud wdwmbgking (2.9) - p
htow £ unmgty, np y(x) - p pajupupmy t pk (2.4) hwjwuwpdwbp,
Pt (2.5) ujqrbujul wwplwhbbpht: »

Pnpkd 2.2: dnpunbkpuwgh (2.6) hhnkgpuy hujwuwpnudp, tpp bpw
ynphqp' K € C(A) b wquwn duwup' FeC [a;b], muh mdnud b wyh
vpuwyh t C [a;b] rpuunud:

Ptnptuh wywgnygp whu hinnkgpuy hujwuwpmdbp pudbnud:

Yhwuwpltbp htwbyw) Unphh bnhpp' gty L [ y]( x) =f (x) hw-
twumpvwt (p, € Cla;b] (k=1...,n), f€Cla;b]) wyh mbnuip,
npp pujupupmud thtnljuy ujqpiuljub yudwbbbpht®
(%)= Y0¥ (%) = ¥t ¥ (1) = 757 (3, €[a;B]):

Ptnptd 2.3 (gnmpjmb b Whwympub): Tipp bajws Ynghh bnhpp
ntbh nudnud b ugl vhwlyu k C [a; b] nuunud:

Ptnptvh wywugmgp planwd k bwjunpn nuunnympinibhbbphg:

3.Q0Nr6LV ULYUl &9 YURBUL dNRLUSPULLL:
LOROARULECE DNRUVIUUTBLSUL Z2UUUYU G
QUUSHL 2UUUULUTUL CUVRZULAR LANRONRUCR

Umhdwboud 3.1: y,(x),9;(%),.... ¥, (¥) $mbyghwhipp gnpjm
b gdnptb whwj X dhpwluypnud, kpt
oy (x) ey (x) 4o,y (x)=0  (xeX)
tnybmpmithg htwmbmd t* ¢, =¢, =...=¢, =0:
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Uwhdwtmuwf 3.2: y, (x), ¥, (x),...,» y"(x) Imhiljghwbtipp Ynsymud

th gdnpbh Yulupm X vhpwhuypnud, tpk pwbp gdnpkb whljwju kb,
wjuhbph® L>uwphun k£

oy (x)tey,(x)+..+e,y,(x)=0 (xeX)

tnybmpinibip, tpp ny poinp ¢, hwuwwnmbhtph &b hwjwuowp qpogh:

Ophtrmy 3.1: Unpmgmgtyop 1,x,%%,...,x" (n€ N) pmuyghubbpp
gbnphh whjwiu kb judwymimb X dhpwlwpmd: Thgmp hwljwnwyh
£ wnlu k

col+ex' +. . . +cx"=0 (x € X) tnytmpymtp, puyg®
¢ #20,¢,,=..=c,=0 (k < n): Ujuhtiph®

P, (x) =cyl+cx' +..+cx* k-py Yupgh puquubnpunip tnmybwpup

qnt X - nu (nibh wikpe pwbwynipjudp qpnukp), npp hwjwund t

hwipwyyhg hwpnth thwuwh® £ -pn jupgh puquubnudt ntth &hown &
huwn qpnbtp, hwath wewd b Yndyptipu wpdwwnbkpp b wpdwunh

yuwnpynmpnip: Unwugjusd hwjuum piniip wyugnmgnud b yjungnudp:
Opptmy 3.2: Uwwgmgk;, np e*,e*,..,e* (27 #lj,iatj)
$mbyghwbkpp gdnpkh whjwpe kb judwymywh X dhgwluypnid ()lj -

kpp, pinhwipuybu wuwd, Ynduykpu pytp Gu):
thgnip &hown E hwljurwlp, mbkup®

ce® +ce™ +..c,e™ =0 (xeX)

tmynpyniip, puyg (Rpngwhhmpyut hundwp) ¢, # 0: Ujy binybmpymb
tpyne Ynnup pudwbityny et - h ypw b unugywd unp tnyinmpymp
wdwbgkiny, junwbwbp®

c, (/12 - /‘l.,)e('l’-’t’)Jr +..+c, (/1,, - ﬂ,)e("‘_l')' =0: U wpngkup
(tpuynibkbnh Ypw pwdwbbm b wdwbghm) swpmbwykbp n-7
whqud: Upymipmud junubwbp®

(A =3y} (A =g ) (A =4y )& =0
Uunugytg hmjmumpnih, npb b wmywgmgg whnnuup:
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Ophtmy 3.3: Tthgnmp y, (x)=-=0, huy y,(x),.... ¥, (x) Yyudwpn-

b mbyghwibp kb, npnpdmd hty-np X vhgwlwypmu: Uujugmgtbp,
np wu  Pmbyghwbbpp gbdnpkh Yuwjyuy Gh: Ppnp, tpghbiny
¢, =l.c,=..=c, =0, junububp’

1:040-y,(x)+..+0-y,(x)=0 (xe X):

Mtmhp 3.1: Unpugmgty, np kpk y, (x), Y, (x),.... ¥, (x) Pnmbyghw-
btpp gdnpkh whywju kb X vhpwluypnud b X, dhpwluypp wwpm-
tunid £ X - nud, wyw wyupunwnhp sk, np wyn $ncbyghwmutpp (hikb
gdnptt whlmpu X, dhpwuppmau:

Flptup htnlywm; ophtimyp’ y, (x) =X, ), (x) = |x| (x € [-I.‘I]) :
Uju pmibijghwbbpp génpbt whywhe bh [-1;7] huwunjwénuwt: bpnp,
nhgmp ¢,x+c,|x|=0 (xe[-1;1}):

Suyny x - ht /,-/ wpdbplbp, junwbwbp® ¢, +c, =0, ¢,-c,=0
= ¢, = ¢, = 0: bpk wyy pmuyghwbtpp nhnwpltp [0; 1 ] hwwnjwdmd,
wujw wppnbn tpubp hundpijimd B b, nupbdb gdnpk Yujayuy B

Inmuyghwhbph gdnplt mijups (Yuuywy) thukyne hwpgnud Yuptnp
ntp muh <pntuyhh npnohsp, npp -] whqud nhbpkiglih
Y1(x),y: (%), ¥, (x) (x€X) Pmtyghmkph hundwp uwhwinnud
t, htwnlyw; Ypy®

N(x) e V. (%)

n(x) e v, (x) :

--------------------------------

yl("") (x)--- y,,("") (x)

Ptmptd 3.1: bpt y,(x),¥,(x)..... y, (%) ( y,eC"V(x )) my-

ghwltpp génpkh Ywjuuy b X dhgwluypnu, wmuyw bpwbg Ipnbuyhh
npnohsp’ W(x)BO (xe X):
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Uwmgmgonl: dhgmp, hwlmmuyp’ 3Ix, € X, W (x,)#0: Mbkbp

mytmpmt ¢,y (x)+...+¢,,(x) =0, npuntn ny prynp qupbuwlhghibpt
b qpn: Udwhigtyny 7 -/ whqunf wmn tinyimpmibp b wyinthtnb nbnqu-
nplny X =Xx,, junwbwbp htwlyw) hwdwyupgp ¢,,...,c, - h bjun-
dwdp’

("1}’1 (xo) + +c,y, (xo) =0
4 5y (xo)+ + .y, ("o) =0

...............................................

¢, y"D (x,)+..+¢, 3. (x,)=0

Uju hudwljupgh quuynp npnohsp* A=W (xo) #0: Nptdh wyh
nbh dhuyh qpoyujmb mdnwd, npp hwljwumd t wyy pmbyghubbph
qdnpkl Yuifuyun (hubnt: =

Zkwnbwbp 3.1: Fhnpkuhg hbnbnud &, np tpk hty - np dnclghwmbtph
Ypntuyhh npnohsp dhgwywiph hty - np Yool qpo ot wum wyy
Upgujuypm hpwlip gdnpbh whljwpu kh:

Ljwwnkip np, pinhwbpuybu wuws hmjunwyp uhuy b, wyuhbph,
$mibyghmitpp Yupnn kb (hub) gdnpkt whljwly, puyg bpwbg Ipnbuhhh
npnohsp thih tmybwpwp qpn: Ophtwl, Yurmghup hbwbjw; tpym
$mublghubipp®

»(x)= {

ol

0, xel0:1] '

0,xe[-1,0]
x’,xe[0;1].

) 2x, xe[-1,0] 0, xe[-1,0]
yi(x)= {0, xe[0:1] i (x)= {Zx, xe[0:1] ’
Upu $ribiyghwhbbpp gdnptb whijwlu b [-7; /] hunajwdnu: bpnp, bpk
¢y, (x)+c,p,(x)=0 (x €[-1;1]) tmgmppub by Jlghblp x = =/,
junwbwbyp® ¢, =0, ¢, = 0: 2mpjthp wyn $mbyghmbtph Ypntmyhh npn-

N (x))’2 (xj

.
.

o W)=l e

~51-



)
bpk xe[-l;O], wywm' W(x)=; z=0. huy Gpk xe[O;I],
X

0 2
wym* W (x) = 0 ; =0: Upuwhuny' W (x) =0 (xe[-];l]):
X
Uwjuiyl, npnp (pugnighy yupdwhbbph wnjumpjudp, pinpbd 3.1
- p hwunupdbh t: Ugth wnnyg, Lodwphun thknbyjugp wiogmadp:
Ptoptd 32: dhgnp (%), y,(x).-.. ¥, (%) ( y,eCc? [a;b])
Imbyghwmkpp gdnptk whjwju G [a;b] hunnjwdmu b hwinhuwbnuf
kb L[y](x) = (0 gdujht whptnhwn gnpdbwyhghtpny (p, € C [a;b])
nhdtptughuy hwjuuwpdwmb jnudmudhtip: Uyn nwpnud®
Vxe[a;b] : W(x)#0:
Unymgnigmy: thgnip hwjunwyp® Ix, € [a;b] : W(xo) =0: M-
wwuplkbp htwnbyuy handwlwpgp ¢,,...,€, gnpduljhgutiph bjuundunip’

'CI.VI (xo)* +Co¥n (xo) =0
e (%) + + 6 (%)=0

¢ y (x)+..+e, y.'(x)=0

Luth np wyu hunfwljupgh qijwuninp npnohsp” A =W (x,) =0, wuyw
wh mbh twb ny qpouljmb C),...,C, mdm: Ukpumbkbp pmbyghw’

y(x)= Z'Ek ¥ (x). oph wlyshwpanpbh punjwpupmd k L[ y](x) =0

k=1
hunjmuupuubp b i(xo) =0, 57' (x,,) =0,..., 7("") (x,,) =0 wupfwb-
bbpht: FPuyg wibhwpp k bwb, np tnyh hujuuwpdwbp b wupwbbbphl
pajupupmd £ z(x ) =0 Imulghwb: Cun gnmipjul U vhwympput 2.3
ptoptih’ ¥(x) =D Gy, (x)=0, Pung ny prinp &, - bh qon, npb hw-
k=l
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yuund & y,(x),y;(x).-... ¥, (x) $mblyghwikph gdnpkh whlmpump-
qubp: @

Uuwhmtmuf 33: L[y)(x)=0 bwjwuwpiub ¢dnpbt whywp
Y (x),y, (x),..., Y, (x) udnuwdbbpp  puqumpinibp Ynymd & owyg
hunjwuwpdwb pnudnufutph $mbnudtinam hwmdwlwupg:

Ptoptd  33: Ubpuphwn  qupdulhghtpny  ( p, € Cfa;6])

L[ y](x)=0 qgdught  hwfwubn nhdkpkbghuwy hwjwuwpnuip muh
mwnudbbph dmbnguiknwg hadwlyupg:

Unmgmgnul: Thgmp 4 = "ay ||:, ,~ & hiy-np dwnphg &, nph npnoh-

sp* detA # 0 (ophtwy vhunjnp dwwphg): Lpwbwykup y, (x) -y
L[ y]( x) = 0 hajwuwmpfwh wjh imdnudp, npp pujupupmy t htwnbyuy

yujplwbbtphh® y, (xo) =a,,51(%) =y, yl("-l) (x)=a,:
Umuhuh $mjghm gnympnih nibh pun gnmpjub b dhwymput
2.3 plinptivh: Lowbwlktp y, (x) -y L[ y](x) = 0 hunjwuwpiwh wyh
nwdnudp, npp pwywpupnud £ hnbyuy ywupfwbbtphb®
y2(%)=a,. ¥, (%)= azp---»)’z(n.l) (%) =a,:
Upmpgbu  pwpmbnyind, b dipen y,(x)- o) bpwbwybbp
L [ y](x) =0 hujuwuwpfwh wyb jndnudp, npp punjwpwpnud & htanbyuy

. _ ’ _ n-1 —
ulm]lhll‘lhhplﬂl yn (xo) - alu‘yn (xo) - ah""’ yn( )(xo) - am
fwbh np wju $muyghwbtph dpntuyhh npnohsp X, Yhwnud hud-
phjumd £ detd - h hkw, npp qpn 3k, munh bpubp gdnpkh whlwlu th,
wjuhbpt Yuqunud b pmémutbph pmbnpudtinnw hwdwlwupg: @
YYhungmpmk 3.1: Lwbh np udnuwlubph pmbnudtinaw) hwdw-
Yupgh YJurmgnuip Yuugkg ny qpojulwb npnohy nthtgon dwwnphgh

htw, hul wnuhuhp wijpe th, mpldt jw winjpy pwhwlmpjudp
mbdnudbph $mbinuidtinnuy hudwlupg:

Ptnptd 3.4: Zunfwube L [ y](x) = ( hwjwuwpiwh pphwhmp joe-
dnuip nuth htanlyuy wkupp®
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k=1

huwinhumbnud &b bnyh hujwuwpdwb pudnmudatph $nthnudtinw hw-
dwupg:
Ugmgmgmu: Luju mywgmgklp np gmjugws ¢, hwmunwunmb-

tbph gtwpnud y, (x) =6, ¥, () hutghuwtnui & L] y](x) =0 hw-

k=1
Juuwpiwb ppdma:
Ppnp’

Ly ])(x)= L[;c,,y,J(x) = ch,L[y, J(x)= ch, 0=0:
= =] =}
Thgnp wydd z(x) - p hwighumbtmd t L[y](x) =0 hunuwuwp-
vwh  npuk jnudnud: Lpgublp Vx, € [a;5] U tbpunisbtp tpwbmynul-
btp’ z(x,,) =2y, z'(xo) = z,(,l),...,z("") (xo) = zz" ¢ NMwhwbgklp, np

Yo (x) = ch W (x) |ndnuwdip pujwpwph tnyh uhqpbujub wwylub-
k=l

ttipht bty z(x) -r' Y (’-’o)"‘= 25, ¥ (x,, ) = zgl)’---' gn-l) (xo) = z:-l’
Ujuhtph'

r"/.Vl (xo)+ +C, ), (xo) =2

Jeyi (%) +e,¥,(%)=2"

...............................................

;clyl(n.’) (x0) ..t cnyn(".l) (xo) = zg"")

fmbh np wu bwdwhupgh quunnp npnohsp  hwdpbjbmd
I 4 (xo) (W (xo) # 0) dpntuyhh npnohsh htan, wuyyw  hwdwljwpgh mbh

upuy G,...,C, mbnul bpk bwbmltp' F(x)=) gy, (x), wou

k=]

¥(x) u z(x) $mbyghwibkpp hwbnhuwbnu kb vhitinyt L y](x)=0
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hunjwuwpdwb mdnufubp, pojwpwupnn dhibmyb ayqpbuub wupdub-
ttpht, ntunh, pun qgnmpput b dhuynipyub ptnptivh bpubp hudblimed

&b, wyuhtiph® z(x) = ‘2?,‘ Vi (x):m

k=)
Thunympmh 3.2: Phnptd 3.4 - hg htwnlimud t op L[ y](x)=0

hwjwuwpdwl ménuwiitph A wwpwdnpmip, Jepp todwsd wuypdwh-
ttiph wnwympjudp 72 - ywhwbh gdwpht wpwdnipynih k, nph pmqhub
t hwtinhuwmbnud mdnulbph pminunfkivnw hwdwlwpqp:

Btopkd 35: Ny humube L{y](x)=f(x) hujuuwpiub,
(p €C[a;b] (k=1.....n), f €C[a;b]) pighwhmp nudnuft hpbhg
ttpyuyughnud & hwdwutn L[ y](x)=0 hujuuwpdwh pinghwimp
{mduwl U ny hwdwubeh nplt vwubayop y (x) uddwh gnulurp®

2(x) =Y e (x)+7(x),

. k=l
aputn ¥, (x),3;(x)..... y,(x) $nuyghuttpp hwtmhuwbeuf th hw-

twute hunjwuwpdwb pmdnufbiph dnbinuikinnug hudwljupg:

Uywgmgnul: Uh Yoqpdp whthwn £ judwpuub ¢, hwov-
unbtitph nhypoud*

1S +3()|(9= Tatlnleelsl = s

ial -1

Thgmp, uydd 2 (x) - p 03 hundwubn hunjwuwpdwt juduymbub m-
Sl b’ L[z](x) = f(x) : U nigpmud wyuipq & npq:(x) = z(x)—f(x)
hwhnhumbnmd t hudwute hunjwuwpdwh jmsmd®

L[z-3)(x) = L[=)(x)-L[3)(x) = £ (=) £ (x)=0:
Zuniwdwjh bwjunpn ptnptuh,

33,,...,C, ¢ z(x)-i(x)sz":z-;y, (x)=

=z(x)= Y(x)+§?,,y, (x):m
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2wpg t wrwombnuwd, punn hwiwuber hujwuwpdwb mdnufutph
Imbnuitbnu hwdwlupgh hiyybu gtk ny hwfwube hwjwuwpduh
Uwubunnp mdnudp: Ujuntn, hiyyhu wnwght Yupgh hwjwuwpdwb
ntypnud gnpdnud bt hmuvnwunnbbbph thmhnjiwplydmb (Juphwghuygh)
Ukpnnp:

13 hwdwutn huquuwupdwh dwubudnp mdnuwdp npobtbp htwbyuy
wkupny'

2(x)= 3 (x)3 (). @)

k=l
npuntn ¢, (x)- pp top opnbibgh pmblghwhkp kb Zwpludnp £ 72 wh-

qud wdmbgh b wbnunply L[y](x)=f(x) bujwuwpiub by
Yumnugh v hunjuwuwpnud 72 wmthwjnny: Nunh jupnn bbp wwhwhb-
ok, np wbnh mubkbwb bu (hwpdwp) 7 - yuplwbbbp: Uyhybu Jup-
ki, np ¢, (x) - pp wéwhgkh dhuyh Uy whqud: Mbkip*

7()= 2k () (x)+ 2o ()% (2):

MNuwhwbgklp, np*

Z":c,', (x)y(x)=0:

[
U nbogpnud*

2(x)= 36 (x)54 (x)=

= 2"(x)= gc; ()7 (x)+§c,, (x)yi(x):

‘Unphg ywhwbekhp, np*

ic," (x)y; (x)=0:

k=]
Ujuybu smpnitmytyny 72—/ puyihb Ynbbbwmbp:
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2 (x)= gc; (x) "2 (x)+ zn:c, (x) ¥y (x):

k=l

Nwhwugkhp, np*

3 el (x))? (x) = 0:

kel
b Jtpen Ymbutbwmbp’

2 (x) = gc; (x) 0 (x) + gc, (x) (2):
Stnunpbup wnwugywdp
59(5)+ 32, (5 ()1 2

ST —
3 () () + S () (3)+
+2 P () 26, () (x) = £ ()=

= 34 (P (x) + e (RO (2)+

k=l

30, (A (<D= £ ()=

Jol

=34 (I )+ Ta ()L Ix) = £ ():

k=1

#ubhnp Vk : L[y, ](x)=0, wow h Jtpen, mambmud blp*

36 () (x) = £ ():

]
Ujuwhuny, unwbmd khp htwnbyw) hudwljwpgp ¢} (x) - h bjmundundp*
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($40 () (x)=0

k=l

3 e (%) (x)=0

k=1
Qeeerrnrnreensenresseesenceness — 3.2)

Y (x)y? =0

k=l
Dl ()" =1 (x)
Lk=1
c; (x) ~ h bjuwndwdp’ (3.2) hadwlupgh gjluunjnp npnohsp hundfhljnd
t ¥,(x),.. 7, (x) gdnpkh whlwpu pudnutukph # (x)# 0 dpnbuybh
npnohsh htw: U yuwdweny (3.2) - p ntbh vhwy whpinhwwn pmémud*
(c,' (x),...,c,’, (x)): TNwupq t, op ¢, (x) - n hwjwuwp k ipynt wmbpbghunn
$miyghwbkphg Yuqijwd npnphsbkph hwpwpbpmpmutp, pin npou
huwjnwpupnud W (x) -t npp qpn sk
y(x).. 0 .. y,(x)
yi(x) .. 0. y.(x)
) S () A
k
a(x)= Ig,[ (x)dx+c, (k=1...n),
nputy C, - b hwunwnmb t: Sknunptyny (3.1) - h utg, unwbwbyp*

z(x)= gc—',y,, (x)+kz::y,, (x) Ig, (x)dx:

Ujwuntbp, np ptytn npnimud thtp ny hwdwubn hwjuwuwpdwh
dwubuynp midnwd, puyg unwgutp wyny hwjwuwpdwbh phnhwbmp
[nwdnudp:

()28 ()55
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4. QUUSPL MILLHLSPUL ZUUUUSTUL YEMUYRLILARUT
CUS LOARDARULECE INRMUSTUUTBLSUL 20UUYUrSP

Thgmp wplws th y,(x)....,y, (x) ( ¥ €C[a b]) npntp gbn-

pbt wiuju kb [a;5] - mu: Hukbp Ybp wngh htwlywy ughpp'nph k
wjbk gduht hwjwuwpnudp, nph hundwp wyy pmuyghwitpp Yhwhghuw-
twh pmdnuwdbbph pnigunibinnwy hundwlupg: Louwphw kb htnbyuyg
pinpdltpp:

Paptd 41  (fuimpmbp):  Wgup (%), 5, (%)
(v €C"[a;b]) qtnpbt whpmls b [4;5] - mut: Ut 7 Yuipgh qunht,

hudwubn, wpunhunn gnpéwljhgitpm] (wjuq wwbigrunh gnpdwyhgp hw-
juvwp Uthh) nhdbpkighwy hwjwuwpmup, nph bunfwp Gpgws mbly-
ghultbpp juqunud bl inumadbph pntbnuidkinug hwdwlwpg vhwyh t:

Uyjuagnigmud: thgnip hwwowlp’ gnmpinit mukh tpyny wwuppkp
wmyhuh hujuwuwpmdbtp’

Y+ p(x) )" +...+ p,(x)=0 (p, €C[a:b]), (4.1)
Y +q,(x)y" 0 +...+q,(x)=0 (g, eC[a:d]). (42)
npntg hwdwp y, (x) (k =1,.., n) $mbiyghwhtphg mpwpwbymipp
huinhuwbnud £ nusnud: 2Ebnbwpwp, bpubp pajupupmd &b awb
r(x)y" D+ 41 (x)=0, (43)
aptn’ 7, (x) = p, (x)- 4, (x); py.4x € Ca; 5] (k=1....n): thgmp'
n(x)=r,(x)=..=r, ,(x)=0,huy ,(x) (1<m<n) inybmpup
qen sk [a;b] - nut: Uphtipt® 3x, €[a;b] : 7, (x,) #0: fubhop
r, (x) mbptighwn k [a,'b] - nud, muw* 3[0, ; b,] c [a;b],
vxe[a,;b,] : r,(x)#0: Hpwwmplhbp (4.3) - p (wyh plnorhiy
hbwnbyu wbupp® 7, (x) Yo 44, (x)=0) [a, ; b,] Uhpwuypnid b
pudwiblp hpw kpim Ynndp 7, ( x) - h pw, juawbwmip'
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Y 45, (2) D 4+, (x) = 0(xela;b]). @9

nputy’ sk(X)a;rf‘—(é%eC[a,;b,] (k=m+1.,n): fwbh np
Vxe[a;b] : W(x)#0, wuw Vxe[a,;b] : W(x)#0: nupkun
Y1(x)s- ¥, (x) 7 hunn $mblyghwbbpp gonpkh whywhe th [a,;5,] -

nul b pudupwpmd kb 7 - hg gudp Yupqg mbkgnn wbpinhwwn qnpdw-
Yhgutpny (4.4) hanjwuwpdwbp: Unwguip hmfuunmpmb: @

Ptoptd 42 (gnnipmitp): “Yhgnip b 7] (x) veer Vo (x)
(7. €C"[a;5]) gonptt witywp ku [a;5] - nud b pwig pnbulhh
W (x) npnohsp [a; b] Uhpmluyph ny vh YEwnud qpn sk Um nhypmy 72
YJupgh qduyhly, hunfmukbn, wmbpbghuwn gnpéwyhghbpny (wjwg wdwh-
guih gnpdujhgp hujuuwp Utyh) nhpbpbhghuwy hujwuwpnudp, nph
hwdwp by Pniighmbtipp uqund b mdmdubph Pntbrpudtinu
hwdwjupg nibh htnbjw) wbtupp*
yi(x) e V. (x) y(x)
, A yi(x) ¥y(x)
W—(';'j ...................... '-. ....................
3 (3).., (3) 0 ()
W (x)- A (x) ¥ (x)
Upnnkn tnjwd npnohyp whnp t pughy puwn Jtpghb uymb, phny npouwf
y(") (x) - b hwbpwhwojuljwh jpugndp htug Ypnhuyhh npnohsh L,
munh, y(") (x) gnpdbujhgp hwjuuwp t dkyh: bpk (4.5) - h Uk wnb-
nunpblp y(x)- b dnjewpbl , (x) - p. wepw wgy npnohsh wowght b

Ytpght uymubkpp Yhundpulybklt, nunh wyt jhujwuwpdh bnybwpwp
qunzh: Lnyt Ypy hudngymu Gup, np wyn hajwuwpdmbp pujupw-

poud bbbl y,(x),..., y, (x) $mbyghmbkpp: @
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5. LPARYDBL - OUSMATUUYAR ATLUQBYLC Y LU
YPrUNNRESNAMLLEMT

‘thgmp wpyws kX vhpwhwpmd nhdbpbughih $octiyghwibphg
juquijwd npnohy
a, (x)..a, (x)
a,, (x)..a,, (x :

------------------------

a, (x)..a,, (x)

Lkfum 5.1: Lpp bpdwd wupfwhbtph weumipjudp, &hon t npn-
ohsh wdwgdmb htnlbjw) Yminbp®

a, (x)..4, (x)| |a(x)--a,(x)
£(x)= a, (x)..a, (x s aj, (x)..a;, (x) ..

................................................

A(x):

a, (x)--an (%) |a.(x)..a,,(x)
a,(x)...a,(x)
a, (%), (x)*:

oooooooooooooooooooooooo

a,, (x)..a,, (x)

Uwnjmgnigmd: Cuwnn duinphgh npnghsh umhdwbdwb®

a,,(x)..a,,(x)

a,,(x)...a,, (x
A(x) = 21( ) 2"( )1= 2 £t,...l.all, .ah: "".ad. , (5.2)
........................ Iyeudy
a, (x)...a,, (x)
npuntn gnuiwpp wwpwdynd & pun pmop hbwpundep j..4, wbnunhn-
lmpynitibbiph, huy £ , gnpdwyhgbpp hunjwuwp b dklh, kpp jupqu-

Mujnnnufubph (htpuhwltph) phip quyg kb dhimu dkyh, Epp jupqu-
hwjnnnudutph phdp YEn & Cun wpunumpuih wdwhgdub Yubnbh
unwbnud khp*

n

(ERY
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A'(x) = Z 5-',...:‘,,0;:', "y, ey +
iyl
’

1
+Z R T Y B 2 £, Gy Gy e oy

iy iy

unphg oqujtiny (5.2) npnohsp pughim {ubinkhg, uvnwbmy khp
G.1)-p=
Ptoptd 5.1: Thgnip vipdud Gh'

Vi (%) ya (%) (y,‘ eC” [a;b], k= 1,...,n) $muyghwhikp, npnbp
hwbinhuwtnuf kb

Y+ p (x) Y+ +p,(x)y=0 (p, eCla:b]) 63

hujuwuwpdwh pdnulikp b W(x) - p bpwhg Ypntuhhh npnohsh t:
Luwphu  htwnbywy Lhnwlh) - Ounpngpuguynt putwdbp

W (x) = ce 1 64

nputn ¢ - U hwunwnmb k:
Uymgmgnud: Udwbgkbp dpntuyhh npnohsp, Yhpwnbiny (kudw

5.1 - o, junnwbwbp*
AC A )

W(x)= ¥ (%) n(x) |,
i
i :8 """ yy((:)) (=) )
) Bty e
yl"’ (x)y(., (")I 7 (%), (x)
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y(x) . »(x)
WA (x). D (x)
»(x) ... 3,0(x)

Uwnwgwé npnphsbbpp, pugh ykpohbip qpn th, pwbh np mukh
tpYfadnn wnnbp: Lepsht npnghsh ke (5.3) - hg wknunpting 37 (x) - p
b JEpwdtiny uyh gnudwph, junwbwbp®

n(x) .. V(%)

W'(x) =-p, (x)

--------------------------------

y,Y (%), N (x
n(x) Y. (%) Yi(x) e V. (x

() ¥ (x) I (x) G

-py(x)

................................................................

y 2 (x)-.. y, 02 (x) »(x) Y (x)

Uwnugyws npnghyutiph dtp wnwghtip Ypntulhh npnohyl k, huly dpniubk-
PR qun kb, pwbh np bpwig dkg Yub Yplinjnn winnbp: Uuyhuny, uinw-
gubp* W'(x) =-p, (x)W (x): Pawnkqplny wju hujwuwmpnmudp unm-
b khip (5.4) -p: @

Thungmpmb 5.1: Mupq t np Lhoujhy - Ounpngpunuym (5.4)
pubwdlp upth b bwb bEpluywughb) hbwbyjwg wbupny

x ('

-f
W(x)=W(x,)e (x,, € [a;b]) : 5.5)
Ztnbhwtp 5.1: Gpt Ypnbuhhh npnohyp [a; b] hunnyjwsdh npht jk-
nnud qpn sk, wyw wyk ny Uh jnnd qpn st
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bpt 2 —nn Yupgh hwuduuwpdwl hwdwp hwgnnymd £ quatiky ny
qpnujub y, (x) dwubunnp imdmu, wyw djnw, wnwghbh htw gdn-
ptt whjwju (nudnuwlp hwgnnynud b quutky Lhawjhy - Ouwipngpunulng

pwbwdbh vheongny: Ppnp, oqultiny (5.4) -~ hg b Ykpgutyny c=1,
Juinwbwbp*

Y1)y (3| _ e _ ¥ ()0 ()5 (x)0(x) _
(1)) R,
U e (y(x)] 1
(o (x)) »w®) (nE)
= y(x)=n(x) I e TP gy, 56

Ophtml 5.1: Qulily lenx- Y'-x'+y=0 hujwuuuwpdwmh
pinhwbnmyp jnudbnuip: Ujkhwyn & op hwjwuwpnuwdp mbh y, (x) =x
duwubwynp pwdnudp:  Zujuuwpnuip  pudwbymy x’inx - h Jypw
(p (x) &hown quiim byjunnwmiyny), llummhmhp. np

p(x)=——— (x >1):
(5.6) - hg vnwtind Lhp®
y{x)= I I""“‘dx —x]lnxd—— —Imr+xI— =-inx-1:
Ujuyghuny, hunjwuwpdut pinhwbmp jpunudp Yhtht
Yo =¢x+¢, (Inx+1):

Ljwukhp, np Lhnulh - Ounpngpuuynt pmbwdbh ognipyunip
Yuiplih b gtk bwlk kppopn Yupgh gdwghh hwjuwuwpdwh hwdwp m-
Snudutph Pnibigudtinnmg hwdwlupgp, twhwytu qubkny Epynt huna
gdnphbh wmbjwu nudmudbp:
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6. 2UUSUSARL SNroUYhSLEN1Y Q0USHL HhILIELSHUL
2UUUUCARULED: ZUUUUGEND b N2 2UUUUGN
2UUUUCARUUVELE CURULORT LNROORULELRE,

LYUPLUQUULIUUP N6UR0:

Aduphtt nhptpkhghuy huwuwpdut hwdwp mdnulutph $nitinqu-
dtnw hwdwljupgh gnmpnitip wmywugnigws k, puyg wyh junmgtp,
puphwbpwybu wuwd, ndjwp htnhp b Zwuwnunanb gnpdwijhghtpnyg
¢duyhtt hunjwuwpdwl hwdwp wyny jghpp dndnwd & Uju ghypnd
L qbught ougipuinnpp nubih htinlyuy nkupp®

L[y)(x) =" (x)+ay" ) (x)+...+a,y(x), 6.1)
opntn g, qnpdwyhgubtpp hpwhwh hwunwwnmbbtp bu: Thuwpybup
hundwubn

L[y)(x)=0 6.2)
hwjwuwpnidp, nph pmbnudp npnbkbp’ y = ™ wbkupm}: Stnpunptym]
(6.2) - h by, junwtimlp*

l ( ﬂ.) =0, 6.3)
sputy /(A)=A"+aA"" +..+a,, mb ynplmd t pmpugphy puog-
dwbnund, huy (6.3) hwjwuwpnuip® phmpwqphy hwjwuwpoud:
Lutuplkup nkupkp.

1. pumpuwgphy hujwuwpnuip nmbh 7 hwwn hpuphg wwuppbp
Aoy A, ppujmt  wpdwwnbbp: Uy phypnid mbbkbp 7 hun
e¥,...,e™ qdnpbh whlwju mbnufubp (nku ophtwy 3.2): Uyawhuny,
hujwuwpiwb pinhwimp nudnwdp Yihh'

Yo(x)=ce* +..+ce

2. wpdwnbtph kg Yubh poquuwywnhyubpp:
Uwbumbnui 6.1: Ywubklp, np pimypwgphy hujwuwpdwb hudwp 4, -b
§ - wpywwnhl wpdunn kbRt I().) = (1—1‘,)' 1,(2). nputn /,(4) pwuq-

twbmonip sh pudubgmd A-4, - b dqpw(Z, (4) #0): 2madh wolikny
upununpuh wbwbgdwh Luypihgh Yubnbp htign t unwbag, npt

A%
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1) =1'(4)=...= 1" (%)= 0,1 (3,) = 0: 64)

Plnpkd 6.1: thgmp 4, - b pimpwqphy hwjuwuwpdub s - wuwnhy
wpdwwn k. Uy phypnud e xe™ .. x" e Imuljghwbpp
L[ y](x) =0 hunjuwuwpdwb pménubbp kh:

Unjugmgmu: Mukip tnyumpymb’ L[e"’]( x)=1(u)e*: Vg
Ywd inyjimpjmb bpym Ynpip wdwbgkip punn 4 whpinhunn wpgm-
Jdkbhwnh £ whqud, junwbwbp

L[ x*e* ](x)=(1(n)e" )“’ = ic,{z‘” (u)x*"e*

j=0
Stnumptiny wju inyimpymb Wby 4 = 4, U hmpdh wnbbyny (6.4) ~
p uunwbwbp® L[x"e“‘](x) =0,tppk<s-I:m
Ptopkd 6.2: thgnip (6.3) pmpwgphy hujuwuwpiub wpdmnbbtph
bt A4 (s-  wuuwhy), A,(s;-  wuwhy),..,A,(s,- wunhy)

»
(Zs, = n) : Uy nbwgpnud L[ y] (x) =0 hunjmuwmimb pudnufubph kb
k=l

¥ xe* .. x"le*:

M xe™ .. x"e™;

................................

npntip gdnpth whjwhe th R nud:
Uywgmgmu: Ywuqubkup wm mdmdbblph gduwyhb Yndphbwmghmb b
nhwnwplttp htnbyuy inybnipinibp®

P (x)e* +..+ P, (x)e™ =0: (65)

bhpugnblp hulmowyp ophtuy P, (x) - p bojhwpwp qpn sk, &
tpw Yupqp 0 <ordP, < s, —I: Pudwltbp (65) - p €** - h Jpu b w-

dubightp B (x) puqiwlnuh Yupghg dkyny wikih whqu, npp 4pbph
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P(x)- h dtpmguubp: Yhpunting wpnunppuih wswhgiut Lupbhgh
jwtnbp htow t tjunky, np dbwgud puquuinudttph Yupgp sh tinju-
{p: Yunwubwhbp' P: (x)e(""")’ +...+ Pnm (x)e(""“)' =0:
Uju ypnghup owpnmtbwybny dhbyh Jkpght gnuiwpthht hwubtyp,
yunwtutp' G, (x) el =, npnkn O, (x) - p tnyhk Jupgh puq-
swhrun! &, by P, (*) - p: Unwmgutip huumunpymb: =

3. Unduytpu wpdwnbbph ntypp: 2wnjh welkiny, np pmpwgphy
hwjuwuwpdwh gnpdwyhgitipp hpwhwh &b, junwbmbp, np kptk  nplk
oy tpu A =a +if ph| hwinhuwimd b wyn hojuuwpdwb jponad,
wuyw bpw hufuymsp* i=a —if, toybytu mbdmwd & Ppnp, mbkbp
a+if)=0=>1(a+iB)=0=>1(a+ib)=0=>1=a-iBumiytu
{htnud t pimpwugphy hwjwuwpdwh wpdwn: Uy A = @ +if wpdunnhh
hudwyunnwuumbmd oK = (cosax +isinax) imdnuwip, npp

hp htppht wowgwgimd t e* cosBx,e” sinffx hpmjwh wpdtpubh jnu-
dnuwfubip (nbu (duwml.1): Fuly A=a- if wpiwnpi hwdwywnwujuwmb
tmp, gdnpbl witjwju pputjub wpdbpubh punualubp skb wougwinud:
Zbwuqu owpunpuwlpp wupgq (hukne huwp phtwplkip 7=3
ntupp: Thgmp pinipuqphy hujuwuwpnudp mith ¥k hwn 4 = 4 hpw-
jwh b tpym hwn b Yndugbpu’ A,; = @ i wpdwabbp: Ujuyhuny
mbkhp htvalijw) hpujwh wpdtpubh pnudmudlitp®
e”* . e**cos Bx,e**sinBx: 8nyg wwmbp np tpwhp gdnpkh whijwh bh:
bhpunpktp mukbp ¢ +c,e®cosfx+ce*sinfx=0 tny-

tmipncp: Oqybiny Eykph pubwdbbphg’
elﬂx + e—iﬂx eiﬂx _ e—lpx
cosfx = — sinfx = % Junwbwbp
]

ipx -ifx ifx -ipx
e +e e’ -¢e
ce” +ce” +c, - =0:
2 2i

Yud*
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¢, —ic c, +ic
ce + "2 et 4 ’2 leM =0

r +i
¢ = & 2'c’ =% Z'C’ =0 (wbu ophtmy 3.2):
Ujuinbinhg, uinwbmud thp' ¢, =¢, =c¢; =0: Lnyh Ykpy Yupkh t

quwnk) pughwbmp ghypnuad:

Ny hundwukn hmywuwpdwb twubuynp indmudp
Pughpuqumbymdh glypod

fAluqhpoquubtgud t Ynypymd  htnbjuy  wbkuph  $mbiyghwt’
f(x)=P(x)e**, nputn P(x) - p pwquwbnud t, 4 - & Yndugkpu
huwunwwnntl: Ujuyhuny mukbp htwnbjw) nkuph hunjmuwpnud*
L[y)(x)=P(x)e* (©6)
Quntikup wju hujwuwpdwt dwubwynp mddwb wkupp, nputn'
Lly)(x) =5 ()+ @p® () +..+,,5'(x)* a,(x):
Uju oyjipunnnph pimpuigphy puquwbnuu t°
{A)=2"+a,A"" +..+a,,A+a,:
Lbpunwdhp wdwbigdwh oyykpuwwnnphtp®
D*y(x)=y"(x) (k=0,1,..,n), I(D)y(x)=
=D"y(x)+a,D"'y(x)+..+a, ,Dy(x)+a,y(x):
Uu bowbwlnudbtpny (6.6) hujwuwpmdp Yphnmuh htabyuy
wnbkupp’
I(D)y(x)=P(x)e"*: 6.7
Up huwjuuwpdwmb wg dwup Ynynud t pluqhpuquubnud wih
wwwndwnny, ap wib, hnpnjwuywbh gnpwphtnfwb dhengny phpgnud £
tnp gdwyhtt hwjwuwpdwb, nph we dwup puqiubnud t: Lxdwphun &
htwnlyuy ptnptdp:
Ptapb 6.3 (gknuwh dwuhb): bpk ¥ € C" (R), myw
I(D)e**V (x)=e**I(D + u)V (x), (6.8)
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npunty” /(D + )V (x)=
=(D+u)'V(x)+a,(D+u)" V(x)+..+aV (x):

Unymgmgnui: Mupq k, np* De”*V (x) = (e""V(x))' =
= pe”*V (x)+e"*V'(x) = e** (D + )V (x),
D’e"*V (x)= (e"ﬂ' (V'(x)+ u (x))), =
=e"* ( WV (x)+p V' (x)+ V' (x)+V '(x)) =
=" (V'(x)+ 2;1V'(x)+/4"V(x)) =e"*(D+ y)z V(x):

Oqujtiny dwpiiwwnhyulwh htmmbghunh kpnnhg htizn b gnyg
wwy, np* D*e*V (x)=e** (D + /l)k V(x) (k=1...n): Umu t pugq-
duyunnly wnwgwdp @, , huununnmb gopdwhhghbpny (k = 1,...,n)

b hpwp gmdwply: @
Fhunnnnpymtb 6.3: Rtnptuthg htnbmd t, np y(x) = & ¥ (x) {n-

pnjuwlwmih hojuwphbmdp phpmid € (6.7) hwwuwpnudp  htnlyuy
wkuph®

I(D+ u)V(x) =‘P(x): 6.9)

NMupq k, np (6.9) - p tnytyghu hbmunnwnmt gnpdwhhgutpny gdught
nhdtptughw) hwjwuwpnud t, nph pimypwgphy hwjwuwpnuf £

I(A+4)=0: (6.10)

Uydd JEpununbwbp (6.6) hujwuwpdwl dwubwynp jmém npn-

bt jagpht Vwju pibwplktp wyb ghwpp, tpp 4 =0, wyuhliph (6.6.) -
p ntbp htwnlyw whupp*

Y (x)+a, y*h (x)+..+a,y(x)=P(x), (6.11)
b A =0 yh hwinhumbmd
(A)=A"+a A" +..+a,=0 (6.12)
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pumpwgphy hujwuwpdwb  wpdwwn, mpdh® @, #0: Yhgmp'
P(x)=bx" +bx"™' +..+b, (b,#0): (6.11) -~ h \mboufp npnlkip
bnyh Yupgh puquwbnuidh wkupny® y, ( x) =0 (x) , npunkny’

O(x) = cex™ +¢,x"" +...+ ¢,y : 2ujuunpbghtyny hpuip dwlu b we vw-
uh vhhimyu wunhdwbh gnpduthhghbipp, junnmbwbp*

=b,,=>c‘,=-lﬁ’—

-]

oooooooooooooooooooooooooooooooooooooooo

Upuyhuny, himoljinpy] bnubuyny npogdoud by (x) - b pogop

whhuua ¢, (k =01,.., m) qnpduhghtpp:
Uydd nhunwpybtp wyb ntuypp, tpp #=0 U A=0 - & hub-
phuwmtnd t  (6.12) hun[u.lumpdmh §  wuwnhly wpdwn,

wpuhbph' @, =a,,=...=a,,,,=0, a,,#0: Uju nghuypnud (6.11)
hunjwuwpmudp punniimod l: htwbpu nbupp*
YW +ayt+. +a, y = P(x): (6.13)
Ubgukbp tnp
z(x)=y%(x) ©6.14)

thnhnhwjubh: Um gypmd (6.13) hujwuwpnudp jduwhnjnjh ht-
nlyuy wkuph*

Vg Ny +a z=P(x) (a
Zudwduyb bwjunpnh,
z(x)=0(x).

npuntin Q(x) ECyx” +c,x" a4 C,- 0 tnyt jupgh puquubnud k

bty P(x) -p: Utmd t 5 whqu htnnbigpky (6.14) - p: Yunwhwbp vwu-

tujnp y, (x) mdnudp (htnntigpumb hwuwnwwnnibhbtpp qpty hwpluynp
-70-
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sk, puth np tpwtp YUwubwlghh hudwute hmjwuwpdwt phphwbmp
{puddwl Ukg):

e (x)= Tnfi—l x™! +%x"’ +... 4+ x=x0, (x),...s

yi(x)=x'Q,(x).
apatn G, (x) (k=1,...5)- p tnyb Yupgh pwquuwbnuntbbtp kb hby
P (x) -

Uydd nhnnwpytip wyh nwpp, tpp 4 # 0 b wyh (4 -1) sh hwbighuwm-
towd (6.12) pumpwgphy hwjuwuwpdwb wpdwn' / ( ;l) #0: Lowwnuip
npnbp ¥ = eV (x) (V eC” (R)) wbupny: Zwnjh wrbbkiny obnwh
fwuptt ptnptdp,  bwbgmd  Gup  (69) hwjwuwpdwbp’
I(D + ,u)V(x) = P(x), nph  pimpuqphy  hwjwuwpnudh &
I(A+4)=0 (nku (6.10) - p): fwh np~/(4)#0, myw A=0 phip
(6.10) hunjwuwpdwmb pdnud 3k Mpldt, budwdwybh  bwjunpnh
l ( D+ ,u)V(x) =P (x) hujuuwpiwt  dwubwynp  pdnuip  mbh
V,(x)=Q(x) wtupp, npuntm Q(x)- p tnyh Yupgh puquwbnw t hty
P(x) -p: Ujuyphuny, wyju ntupned L[ y](k) =P (x) " hwjwuwpuwh
dwubudnp pnusnulp ihthe y, (x) = Q(x)e*:

b Ybpen, nhuwpybbp wib ghupp, bpp ##20 b 4 - & hwbnhuw-
tmd £ (6.10) pumipwgphy hwuwuwpdwl § wwwnhy wpdwn: e byw-
twymd b, np =0 phip /(A + 4 ) =0 tnp punpwmgphy hunuumpiwh
§ wwwhl wpdwn b Mpldl, bhudwdwyt wppth  wujwugnigush
l (D +u)V (x) =P (x) hujuwuwpdwh dwubwynp dnwp Yihuh'
V,(x)=x'Q(x), nputm Q(x)- p tmyh Ywpgh puqiubguy k hby
P(x) - p: 2bntwpup, L [ y](x) = P(x)e"* hunjwuwpiwh dwubw)op
unup iphth y, (x) = x°Q(x)e**:

Ujdd nunwfbwupptlp hwunmumb  gnpswihghbtpht  pipynan
htwnyw) hujuuwpnuitbpp:
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7. B8LEMP 2UUUUrNRILLM

xlly(") +alxn-ly('l'l) +'“+a"y= f(x). (7.1)
wtuph hunjwuwpnuip Ynynud t Eptph hwjwuwpmy, npnty 4, - p
hwunwwnmbbtp th: Ukghkip top wiljwju hnthnjowljubh
x=e't>0 (x= -e't< 0)=>t =In|x|:
Ulghkiny wdwhgyuibtphg pun X —h wdwbgyuutpht pun 7 -},
Junwmbwmbp®
’ ’ ’ ’ ! 1
vo=yt=y () =y
o (odY_ e 1 1
Va =N > ) = Yu ';T'y, ';{’

Ujuwhuny, (7.1) - p Yipudjmd k hbwunwnmb gnpdwlhghbpng
hujuwuwpdwhb: tw pwbwlymyd t, ap (7.1) - ht hududwyunuujiut
huwdwutr hwjuwuwpdwh (nudnudp ytwnp Enpnbty

y=e"=x* (x>0)

wbupm): Hpp (7.1) ny bufwutn hujuwuwpdowh iy whghtyny
x=¢'t>0wy dwmunud mbkind bup plughpuquubnu, dwubwynp
mdwh nitkupp phwnpbnig htwnn whgim up inphg hht thnhnfuuljmbh:

Opptmy 7.1: Qubky x°y” —2xy = 6lnx hujwuwpdwh pighwbmp
judnudp: Lwju wyb phpkbp Ejpbph hwjwuwpdwh, pudwbm] x- h
Ypmx’y’-2y=6 Inx : Zmiwuboh |msnufp npnbktp y = x* nkupm,

X
Junuwbwmbp®
(2(A-1)-2)x* =027 -2-2=0> 2 =-1,4,=2:
Mptadt, hwdwutn hwjwuwmpimbt  piphwbmp  Wdowdh

Yo= L7 c,x’: Ny hwdwutnh ywubun]np jmbdnudp hupljunnp k npobty
x
htanlyun wbkuph' y, = (at2 + bt)e" = (aIn’x + blnx) x!': bpym whqu

wdmbgkiny b mtnunptiny hwyjwuwpdwt Uy, unwbwbp'
-T2~



n(x)= (b+(2a-b)lnx- aln’x)x",
2a-3b+(2b-6a)lnx+ 2aln’x .

n (x) = Py
2a-3b+(2b-6a)inx+ 2ain’x
- .
_2blnx+2aln’x _ 6inx
x Cx

2mpdh wnbbny, np 1, Inx Pmbyghwbbpp gdnpkh wblwu bh,
Junwbwip® 2a-3b=0 b ~-6a=6=>a=-1,b= -% : Upjnyhuny, hw-
Juuwpdwb phphwbng pudnudh t°

J’(x) '&+c x? ________3ln2x+21nx :
x 3x )

1. UnUQhrL yurah OUSHL,
2UUSUSARL SNMOUYRSLENY HThHEIBLBMUL
2UqUUUCNrULVEre 2UUUauUrase

Lwju nhwnmpytbp bpym wbhwpn $nibyghwbbpny bepdw) hwdw-
YJuipgh bujpp’
{xl =a,xta,y+f (t)
Y =azlx+a:zy+fz(’)’
npntn 4@, - p hwmununmbbtp &b, huy f- p' nhdtipkbghih pmtygh-
whbp: 2unfupting, np x(¢), y(¢) 8.1) - h imdnulibph kb, wbwhghbp

wrwpht inyunmpp b oqujtup wnwehb b kpYpnpn bnyjumpynihbt-

phg, juunwwbp tpypnpn Yupgh, gdwiht, hwuwmwnmb gnpdwhghbpm
hujwuwpnud:

Ophtwy 8.1: Gty wpyjws hudwjupgh piphwbnip ymdnuwip®
x'=4x+y-e*

8.1)

y=y-2
-73-



Twpdtp Ybpp twdh yhu, junwbutbp®
X" =4x+y -2e" =4x'+y-2x-2e" =5x'-6x-&* =
= x"-5x'+6x=-¢":
Luj jnsthp hudwubn bujwuwpnudp, mdmdp  npnbbym
x = ¢” wbupny, Yunubwbp' A%-54+6=0= 4, = 2,4, = 3 : upku,
hunfwutnh pphwbmp osnuit £ x, = ¢,e” +c,e”, hul ny hunfwutohtp
wtwnp t npnbly X, = ate” unbupny: Mwupq bwpdwpyp gnyg b wughu, np
a=1:Upyhuny' x=c,e” +c,e’ +te” : Unugiludp wbubgtyn] b wk-
nupkiny wnughtih ykg, imubkbwhp'
y=2(1-c,-t)e” -c,e™:
Ujdd whghkup kptip wbhwpany inpuwy, hunfwubke hwdwlwpght®
x=a,x+ta,y+ta,;z
y=a,x+a,y+a,z, 8.2
Z=ayx+ayy+a,z
npntn g, - p hununmbbbp te: Upuintn imybybu jupiph t Yhpunty
wpunwpudwb Wkpnnp, puyg wyh pupng b Ujunbn unbh hbupdwp b dw-

wphguht dtpnnp, npp dtdwuybu Yhkfh uugup ntuph Ypw: Lipdm-
Stlip dwwnphg unibuy (Ykjwnp)*

0 [x
X(t)=| »(r) |, opb wdwbgrup yipth X (1) =| ¥'(¢)
z() 2 (r)

b bpb bbpinbbly vunnphg' 4=[a, ]:'J_’, wupn (8.2) hunfwlwpgp
Ygpyh htanlyuy Yepy® . _
X (1)=4X(t): ®3)
Lawdnufp npobblp hkwnbyu) nbupny’
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X =Be” = X =ABe* = AEBe* (B - t hwununnmth ytyunp L, huy
E - t vhwynp dwnphg): Sknunptyny] (8.3) - p dkyg, b Ypdwnbtyny et - h
Ypw, junwbwbp®
(4-AE)B=0: 8.4
Lwbh np JUkq htwmwppppmid £ X=0 inwnudp (Ukq hwpyundnp b
tpkp hunn gdnpt whljwju jmdmdbp), wyw wpwgwhmd t ubthujwuu
wpdtphtph b ubthwlwh JEYunnpibph wpnpkdp: Ujk A - b, nph nby-
powd (8.4) mbh ny qunpuijmb ndmy Ynsynud t ubthmwh wpdbp, hul
hudwywufiwi ny quuyulwl Jejunpp® ubthmlijmb JEiyunnp: Mwpq t, np
hunfwukn (8.4) hwjuwuwpnudp §mbtiw ny qpnjuljut pudnud, tpk*
det(A-AE)=0: 85)

Uju hwjuwuwpnudp Yo oud & ptmpwqphy hunjuuwpnud: hunwup-
Ytbp niwppbp ghuppp phnipwgpnn opptiwykp:
Ophtul 8.1: Qunlilk) wnpud hunfwjupgh pinhwbnip (nudnudp’
x'=2x-y+z
Y =x+2y-z
Z’=x-y+2z
Ljwunbhp, np A4 dunnphgp wnjjuy l}hl;lpnlll jpup*
2-11
A=|1 2 -1]:
1-12

T up sk mbubk), np wjju) nhypnud (8.5) phmpwqphy
hujuwuwpdwh wpdunnbbph kb (uihujwt
wpdtphtp)' 4, = 1,4, =2,4, = 3: Smpw- puwbynip ubthwfub
wpdtipht hwiwwunnwupwh (8.4) hwjwuwpmudp Yihuh*

1-1 1[4 b, b,-b,+b,=0
A=1111-1|b,|=0@B=|b,))=>{b+b,-b,=0
1-1 1||b, b, b,-b,+b,=0

=b,=0,b,=b=1:
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0
u]mq]mml‘:f\= 1le':
| 1
0-11][b, b,~b,=0
A,=2,110-1|b,{=0=>4b-b;=0=>b,=b,=b,=1:
1-10]|b, b -b,=0
71"
Ujuyghuny* X2={1]e*:
..I_
A =3, II-II-]I Z =0=>{-b’-b’+b’=0=>{b’=0 =
1-1-1)8, b, -b,-b,=0 b=b=1
1
X3=|0]e":
1

Opnbbth pinhwbnip (nunuwip Y{jhth vnugdud tpp hwn gdnpkh
whlw jmémudutph gduyht Yndphmghwt’

X= 0,71 +c,7f; +C3i’.3:
Ubghtiny hwmjuuwpmpyub pun jnnpphtwnbbtph, junwbubp
x=c,e” +c,e”
y=ce +ce”
z=ce +c,e” +c,e”
Ophtml 82: Gt} wpywd hunfwhwpgh pinhwimp |mdnudp’
¥=2x+2z-y . [2-12
y=x+2z = A=|1 0 2|: Zkpwn t wkubl), np wjuy nby-
’=y-2x~z =21 -1
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pord  (85) phmpwgphy  hujwuwpdwh  wpdwwnbbpt BW°
A =1, A=<, A =i: Smpuwpwbymp ubhwlwb wpdbpht hunfwuym-
wuufuwt (8.4) hunjuuwpnudp Yihtp'

1-1 27,
A=1,|1-12|b|=0
-21-2|| b,
b,=0
b,-b,+2b,=0 =0 b’_2=>
-2b,+b,-2b,=0 ~ |b,=2b, ?
b,=1
0
X:=|2]e: =
|
2+i -1 27 (2+i)b,-b,+2b,=0
A=-i) 1 i 2||b,|=0=>{b,+ib,+2b,=0
2 1i-1)jb -2b,+b,+(i-1)b, =0

Anudwpbyny wnught b Eppopny hawhwuwpnudbtpp junwbwbp ht-
wnbjw hwdwpdtp humdwlwpgp®

ib, +(1+i)b,=0 b=(i-1)b, (b =i-1
b +ib, +2b,=0 =4b,=(i-1)b,=>{b,=i-1
-2b,+b,+(i-1)b;=0 |0b,=0 b =1
i-1 i-1 sint - cost sint + cost
X ={i-1|e" =|i-1|(cost-isint)=| sint -cost | +i sint+cost |:
1 1 cost - sint
Uuughuny, mubbp*



sint - cost sint + cost
X2 =| sint -cost |, X3 =| sint+ cost | =
cost - sint
=>X= Cl:‘;l +CZX;2 +c_,z_Y.3 :
Uhghtiny hujwuwpnipjuh punn §nnpphtwnnbbph, junwbwbp'
x = ¢, (sint - cost) + ¢, (sint + cost),
y =2c€' +c,(sint - cost) + c, (sint +cost),
z=c,e' +c,cost-c,sint :
Ophtruily 8.3: Gty wpywsd hudwwpgh pighwbnip jmsnudp®

x'=4x-y 4-10
y=3x+y-z=2A4={3 1-1
Z'=x+z 1 0 1

Su hunjwuwpdwbp hwdwywujuwh (8.5) pimpwgphy hujwuw-

pnup phipnuimud k (/1 - 2)3 = () wkupp, uwyuhph A = 2 - p pimpwgphy hw-
Juuwpdwl trwywwnhy wpdwa t Gty uupup ghyph wbuynghg,

X =4AX hunjwuwpyiwh jpudnuip npnbikhp htnbyu wnkupny®

X = Be” + Dte® + Ft*¢* = EBe* + EDte* + EFt’e¥:

Nputnhg' X =(2§+B+2:(5+7?’)+2:’F)e": Skl

— —
wpu ponpp X' = AX hujuwuwpdwb dbp b hwjwuwptgityny hpwp ¢
nyl munh&wh gnpswhhghbpp, jurnubmbp hiabyu hwdwlwpgp'

(4-2E)F =0
(4-2E)D=2F:
(4-2E)B=D

Ulukbp mmnghtihg'
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2-1 0 2,-7,=0 f=y f
3-1-1f,1=0=> 3f,-f,-f,=o=>{ P Ui F={2
1 0-1|71, f-f,=0 U/ f,
Ubgltlp tpynpnht’
2-1 04,7 [2 2d,-d,=2
3-1-1 d: = 42 = 3d:-d:-df’=4ﬁ___>{dl=d3+2fl :
d, =2d, +2f,

1 0-1id,| |2,| |d,-d,=2f

Ubghbk)ny Gppnpnht, junwbwbp®
2-1 01[, d, 2b,-b,=d,; +2f,
3-1-1]|b,|=|d,|=>43b,-b,-b,=2d,+2f, >
1 0-1|\b] |d, b-b,=d,
=b,=2b,-d,-2f,,b,=b,-d,:

Yunuptiny Ykpubpwbmyndttp b, =¢,, d,=c¢,, 2f,=c,,
Yunwbwbp' b, =2¢, -c, —¢;,b; =¢,-¢,,d, = ¢, *+¢;,d, = 2¢c, +¢;,
= 2¢,, f; = ¢ Upaughun]® '

<
X =Be* + Dte® + Ft’e® =| %, -, -c, [e” +
¢ -c,
c, + [ Cs
+t| 2c, +¢, |e” +26*| 2¢, |e™:
2] €
Upnntinhg, Ytpphmjmbwyybu uvinwbmd Gup®
x=ce” +(c, +c})te¥ +2c,t’e”,

y=(2c,-c,-c;)e* +(2c, +c,)te” +4c,t’e™

z=(c,-c,)e" +cpe” +2c,t’e™:
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VI FLSEArUL Z2uquuurnruver

1L 3CERNOLUT MLSHEACUL 2Uquuuraruoubm

3ptnhnpth wnmght utwh hbwnbtqpu) hwjwuwpmd t Ynyymd ht-
wulyu) hayjwuwpnudp*

AfK (e)o(r)dt = £ (3):

Sptaphapth ‘ill‘llml“:u‘mll ptutgpuwy hanjwuwpouft k*
b
o(x)= ).jK(x,t)q:(t)dt +f(x). (1))

nputn K (x,7) wupdus Ynduybpu wpdbpubh $mbyghwh Ynydnud k Y-
phe. K € C(D) (D=[a;b]*[a;b]): Spyuwd t twtr f(x) Portihghut
(feC [a;b]) , A- b Yodupipu hwunwnmb b Opobiyh $otijghwb
@(x)-ut (peCla;b):

Lkpumdklp hntigpuiy oybpuwnp*

(Xf)(x)= IK (x.1)f (t)dt (f €C|a;b):
U bombwynuing (1.1) - p phynubimd & hknbjuy whupp'
o(x)=A(Ke)(x)+ f(x) (12)

2, 202NMUYUL UNSUrYNkhULECk UBRNIC
“ONL” YNrhAb TENLNNU:

Yuimmigthp hwgnprjmijwnipnth’

2, (x)=A(Ko,  )(x)+ f(x), n=12....(¢,(x) = f(x)).
Yud np inybhb £ hby®

@, (X)=1]'K (x.)p, ()t + f(x),n=12...: @1)



LVtinunwstbp bpwbhwlmdbbp’
(K°7)(x) = £ (x).(K'f)(x) = (KF)(x)s-.r
(K®1)(x)=(K(K"'f))(x):

Nwpq t, op wjuybu junnigud oybkpwwnputpp toybuybtu whpbs-
hwnn Ynphquiipny hinntgpuy oybpwinnphtp bh:

(1)) = (R () (5) = [ )67 ) =
= :IK(x, r)drt(K(r, ) f(t)dt=
= :‘f(t)dt;[K(x,r)K(t,t)dr = t[Kz (x,t)f(t)dt,

b
nputn® K, (x,1) = IK(x,t)K(t,t)dr:"lmpq t.op K, eC(D):
Punniljinhy Ybpoy’
b z
K, (xt)= IK(x, t)K, (z,t)dr, K, e C(D),
P=23... (K (x.t)=K(x,r)e C(D)): 2.2)

K, (x,t) ynphqutpp hnypjnd b hmenpymbut Ynphqtbp:
Uwpbduwnhiulwh  hugniyghwih  dtpngny  wywgngbp, np
/R (x) hwgnprujuwumpmiup hpkthg tbplujugund k

3 4 (k1)(x) @3)
n=l)
Ltpimbh gwpph dwubwyh gnudwpbph hwenpuwlwbnipymb’
¢’.(x)5il’(l(’f)(x), n=012,..: Q.4)
j=o
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Ppnp @, (x) = 2° (K f)(x) = £ (x): Mhgmp @4)-p &hpnt n -
h hundwp, wyyugmgtbp,np &how & twb 72+ / - h hwdwp, hpnp®

Fu (<) =1(K9u)(2)+ £ ()= A5/ (K (k21)) )+
+f(x)= g,v*' (k! f)(x)+ f(x)= g;f (x/ f)(x)+
+f ()= z=0 (K f)(x):

Ujdd quwbwwnbbp Lkpdwmbh (2.3) gwpph whnudbbpp, wwupqm
hundup, ph pp k uyb gmguadtin:

Vufuungbu  bbpumablp  Gyubulmufhbp' 'ﬁﬁfl FE=lA S
tmpud, max|K (x,1)|= M >0 (M =0 nbupp blanuppghp sk pubh op

wyn nhwpmid hntgpuy hujurawpmup YEpudym t hwbpwhwothalubh):
Ujuughum}, mukhbp*

(&) =lr <A (k)=
JK(x,t) f(t)dil< ;ﬂK(x,t)“ f(O)de <|A1M (b-a).
(K2r) () < :ﬂK(x,t)”(le)(t)ldt <M (b-a)

Uuptufmwnhluljub phgmyghush wbpangay b b uymgoghy, np
(1)) <M (6-a)) :

Npbadt’
W (k1)) s’ (a=|a|p (b-a)): @5)
Ghpunpkbp np* @ < /, wpuhtph®
1
4] < (o) 6)

~-82-



U nbogpmud || f ||2:.;a' pluhl zuppp quiguftan kb, puwn Sybp-
snpuiuh hwpunwthsh, '('2.3) Lkjdwh swppp pugwpdwl b hwduuwpm-
sunh qniquutn k [a; b] hwwnjwsnwd ([7], (9]): Ujupbipi (2.3) oupph
dwmubwlh gqnuiwpbkph @, (x) hwgnpyuwlwbnipmibp [a;b] hwunyjm-
nud hmjwuwpwyunh qniguthnnud ¢ hby - np q)(x) Inmblyjghuyh, nph
1y (2.3) 2upph gnuduph £

¢(x)=§l" (K"1)(x). @

pin opnuf @ € C[a;b], puthnp* K" f € Cla;b), n=0,1,2,... (6),{9)):
Rtnptaf 1.1 (gnmippat b dhuympyuh phaptf Sptghnpth hwdwuwp-
wwb hunfwp “thnpp” Ynphah ghogpnul): bps K € C(D). (f € C[a;b)) u
A {ndupbpu hwunuwnniip pudupupmyd t (2.6) wyupiwbhl, wopa (1.2)
htntgpuy hwjwuwpnudp nitth jusnud b wyh thwybh t C [a; b] nuund:
Uwmgmgm: 8nyg wawbp, np @, (x) hwgnpyuljmbmpjul vwh-
dwh ¢(x) - p hwinhumbnmd k (1.1) ]lln;xhqpm]_ hunjuwuwpumb joubnud:

Tpw hwdwp hwpliuynp k (2.1) - nud whghl) uwhdwuh b gnyg ww) np
Jupbjh L whghl) uvwhdwbh hwnkqpunh bpwbh wwml, wyuhbpb®

b b
lim [K(x,0)p,.,(¢)dr = [K(x,0)0(t)at: @8

Wh, op @, (x)- p hujwuwpwywh dquumd k ¢(x) - pt bpwbiwm-
o '
V& >0,3N(¢),Yn2 N(g),Vxe[a;b] :

e .
M(b-a)

2, (x)-o(x)| <
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2knbwpwup*

(K (5 )sdt - [K (x1)o(r)de|<

< :ﬂK (x.7)

(n 2N (€)+ 1 ) = (2.8): Ujuyhuny, imddwb gnympmbp wuwgmg-
Yus k: Ubghtup vhuympjub wywgmgdwbp: thgmp (1.1) hmjuuwpm-
up C [a;b] nuunuf nih kpym @, (x), @, (x) |pudnulubp b, phgmp'
z(x)a¢, (x)—-% (x): Mupq L op z(x) - p pajupupmud L htanlyuy
hudwubn htnntiqpui hwjuwuwpudwbp® 2z (x) =/1(KZ) (x): Npuntnhg ht-
wnbnud t*
2(x)= A(Kz)(x) = A*(K’z)(x) =...= 2" (K"z)(x),n=1,2,...
Ujuintnhg, hwish wrbbing (2.6) - p, junnmbwbp®
l2(x) <[l = |z <"
Ubghlyny uwhdwbh, tGpp 7—>00 b bwpth umblm] ugh, np
O<a<l, fwouwhuwtpy' [z]<0=|z|=0, npb § tpwbwymd b

me, (x)=p,(x):=

b
|¢,,_,—¢(t)|dtsM—A7(bi_-a—)— Jdt:e

3. YOLSErUSP PULSEA UL 2UduUUUraruLEr

Yhgmp Sptmhnpth htwnbgpun hunjmuwmiut K (x,7) ynphap po-
Jupupmd £ htnbjuy yupdwbhh' X (x,t) =0,x <t <b: Lowhulthp
A -ny htnbijpuy trwiymbph A = {(x,t);a <x<basts< x} : Uy ntoy-
poud Sptinhnjuh kpypnpn utinh (1.1) hhntqpuy hwjwuwpnudp Yplnnibh
htnlyuy nkupp'
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o(x)= 4 [K (x.0)p(r)dr+ £(x). @)

npt i wijubnud kb Anpnbpuyh tpypnpny utch hntkqpm) hugjwuwm-
poud: Uyl oyjipuninnpuighb wbupny Ygpuh hbwbyuy Yhpy®

o(x)=A(Kp)(x)+ f(x). 3.2)
nputn K htunkgpwy oyykipunnpp npnpynid £ htnbyuy Yepy*
(RF)(x)= [K(x.)f (r)at (f €C[a;b] 33)

Qamipputh b thuimpmh pnptid dnyutpwih hujwowmpdwb hwm-
dwp: thgmp KeC(A) u feC [a;b] , wyn gypnud C [a;b] nw-
umud (3.1) hwjwuwpnudb muh ppudnud b wyh dhwlb k:

Unjugnmgnul: Unphg Yhpunkip hugnpnyujub dnnwpynudbbph Jb-
pagp b jurmgttp htiwmbjuw) hwgnpyuljwbnipynibip®

@, (x)=A(Kg,, ) (x)+ f(x), n=12...(p(x)= f(x)): B4
Plyybu b bujunpn nbypmy @, (x) - p hpbihg bkpyuymgbmad £
2‘; A (K' f )(x)
Ltjuwth swpph dwubwlh gnudfwmptph hwenprymljubnpymbp:
@, (x)= i)/ (Kjf)(x), n=012,.:
Jj=0

Uwluyh wju nuypmy supph wbgurdbtpp pary th wwhu htnbjuy
qwhwwnwjwbbbpp’

(<7) e =l N <At K)o =

<

]'K (x.) f(t)at
S QIR Gl (O <A =131 (x-a).
(K?7) (=) s TR () e fuM’:j(: —a)(t-a)=
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w2 e e
(& 7)(x) < ;"K Ol )N s| ) j('_Ta)d (t-a)=

_Ians(x a) =|7|M? (x a) :

Uwptiunhjmjut hh.qmllg[nu]]a Ukpnnm| hl:zm k wmuymgmgty, np*

(i) sl

=1 (k” ROE
Snfn%:, a=|A|M(b-a): (35)

] a"
Pubh op 3_a, (4, =—) Zupen quguilian t (oqulttp ¥ U
nw=0 .

nel

a nla a
,[9)) h thohg' 2L = 0<1
piph ((71.[9)) hwpnwhhohg a, (n+ e n+ ]":; ), wywm

z A" (K' f )(x) Uliwbh swppp pugwpdwy b hunjuwuwpuywh qnigw-
n=0

tan t [a;5] hunmpudnu: Usahtiph suipph dmutnulh gnufupbbph @, (x)
hwynpyumwimpmebp [a;b] huwwnjuwdnud  hunjuwuwpwyunh  qniqu-
Upwnm t hty - np @(x) $nihiyghunh, nph by Vbpwbh pwpph qmutbwph &
Utnuf t (3.4) - nud wmbgukup uwhdwbh, tpp # —> 00 (uyb, np Yupkh
wbghl] vwhdwbh hinnkqpuyh bpwbh wwl hpvbunjnpymd k hgybu
bwhinpny ptnptivh wupugnygmu): Ujdd wyyugmgblp dhwimpmbp:
thgmyp (3.2) hajuwuwpnuwip C [a;b] nuuntd mbh tpym: @, (x),q)‘, (x)
usnuftbn b, phgmp' z(x) =@, (x)-@,(x): Mwpqt np z(x) - ppu-
Yupupnu! | htwnbjuy hundwutin hnbqpuy hujuuwpdwbp
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2(x)=A(Kz)(x): nputnhg htuntmu £
z(x) = A(Kz)(x) = 2} (K'z)(x) =...= 4" (K"z)(x), n=1,2,...:
Ujuntinhg, hmoth wnikiny (3.5) - p, junnwbwmbp*

an n
(N <% =l <l = 0:

n! oo

Ubglitym) wnbiwbh, bpp 72— 0, unubmbp® |2 <0 = ||z} =0:

Nph by bpwhwynud &, np g, (x) = @, (x):m

QYhungnpmb: Lhjunnkbp, np wju pnptfh wyywgnigumb wypngt-
unuf uiphp stinuy wywhwbgtynt Ynphah “Gnpp” thinkyp:

4. CERNLUP BBALBULENC YELUUEIUD
YNrhek VENLNRT

Unphg jtpunuebwbp $ptighnpth (3.1) hnbgpuw) hunjuuwpdmbp,
npb nnumdbwuhply thup “gnpp” Ynphqh ghypmud: Uydd ghwwpythp
Jkpuubpywd Ynphqh nhwgpp, tpp wyh ibpYuymgynud thtwnbyw Yipy®

K(xt)=Y p;(x)-q,(r) (pj,qjéC[a;b],j=1,2,...,n): (4.1)
J=1

Npytu YEpwubpyud Ynphqh Yuplnp ophtwy t hwtntu quihu tp-
Yot thothnowlwih puquubngup, wuhtph tpp p, (x) b g, (f) Poby-
ghwutpp pmquwbnudhbp bh:

Ukbp Ysbpunpbip, np p, (x) (j=1,2...n) (q,(1) (j=12...n)
$mblghwbbpp gdnpbt whiympu b [a;5] hunndudnul: 2wlwmal nhw-

poud, wyn Pmblghwibtiph pwbimyp pymghtine b JEpubywbwlknt hwalht
luptjh & hwhql) gdbnplb whjwjn $mblyghwbbph: Thpwutipjus Ynphqh
ntypnud (1.1) hwntgpui hwjuwuwpnudp Ypbgnibh htabyuy wkupp'

o(x)= Ai‘p] (x) ]'qj (Ne(r)dr + f(x): (4.2)
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Lkpunstiip bombwmymudbbp®
b
¢, = [a,(c)o(r)dt =(3,.0). (43)

@&pym @, ¥ € Cla;b] Pmihghwbbph uywyup wpuwmnppop wwh-
dwbynud k (Gjhtnu] ghuljptin whwinghg) htwnlbyuy Yepy*

b
(o) = [o(x)7 (x)dx (7 - - h i bpu hunfuymsh )
Uum.:l kb, np @ - b nupquhuyug b y - hb, Gph
b —
(2¥)= o (x)dx =0:
Uuyhuny, (4.2) - p thmi:nul t htwnbyuy mbupp*
(x)=4> ¢;p,(x)+ f(x): 49
=1

Puqiuuyuunlbbp (4.4) - h bpym Yoandp g, (*) - o b pabqpkip,
Junwbwbp*

G = Ai ayc, +a, (4.5)
J=!
npuntn
b
ay = [p,(x)q, (x)ax, kj={L2..n}. “46)
[
& = [0, (x) () =(Gpf) (k=12,.n): @4
Ltpumatup &m\npbghhp‘
¢, ] a, ]
é=|. [a=|. |.4=laf
ol la




U bawbwlynudutpny (4.5) - p Yplynibh hbnbyw) nbupp®
¢=AAc+a: (4.8)
Ujuyhuny, tpk ¢(x) - p hwinhuwbnud t (4.1) hpbunkqpuy hunju-
vupdwl imdmud, myjw (4.3) pwhwabim] npngynn ¢, - p pujupwpnud kb
(4.5) hmiwmwupght:
Zwlijunmyp’ tpt ¢; - tpp pujwpwpnd ku (4.5) hwdwlwpghb,

www (4.4) ~ hg npnoynn ¢(x) Inuyghwt hminhuwbinmd t (4.2) hinnk-
qpwy hunjuiuwpiwt jpudnud, hpnp*

o)-1325,(3) fa, (ho(0)dr~7 (3)=

= '%i p;(x)(c, —liaﬁc_ ~a,)=0,

jnl mal

pubhnp Vj:c, —lZaj,,c,, -a,=0:

m=l
Uunugjudp bowbwlnwd t, np (4.2) b (4.5) htmhpukpp hpwp hud-
wpdbp b, wjuhlph, ophtimy, tpk (4.5) ~ p ntbh Pwdmud b uyh Jhwlh &,
wyw bnyyhip Yupbph b wunk) (4.2) - h dwuhptb:
Nupqymd & np (1.1) hwjwuwpdwb btn dkjutn jupunp £ wp-
wbu Ynywd bpwh hwdwmd hujuwuwpnudp

w(x)=2(Ky)(x)+g(x). (49)
nputngeC [a;b] , K*-p htunkqpuy owbpananp & K (x,7) = K(t,x)
Ynphqmy: Tkpwubpdud Ynpheh phwpnut® K (x,0) =37, (x) 5, (1):
J=1
Uju nygpnul (4.9) - p Yptgmibh htanbym) nbupp

v (x)= IZ::dﬁ,- (x)+g(x). (4.10)
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npubn’
b
d, = [p,(tW(t)dt=(p,.w): (411)

Puqiwwunnlybhp (4.11) - h tpym Yanqdp P, (x) - n b hunkgptup,
Juunwbwbp'

d, = /12": agd; +b,, 4.12)
jml
nputn’ ’
3
= I‘TJ(X)I_’g (X)dx=5j*,j,ke{1,2,,,,,n}, (4.13)
b
b, = Ip?,, (x)g(x)a&x=(p;,8), k=12,...n: (4.14)
Lhpumdtup :[unnp]mghhp‘
41 [4]
= = - '
i=|. |.5= N
d, | b |
Uy hzmhuxllmtlhkpm[ (4.12) ~ p Yptmmbh htnbyun ntupp*
d=2A4"+b: (4.15)

Phyytu U bwijunpymud hton t wywgmgty, np (4.9) hun[mumpmd’p
hundwpdtp t (4.15) - hb, nputn y/(x) Imblghwbh npnpjmud k d - -h

vheongny (4.10) pmiwmdny:
Ljmunklp, np (4.8), (4.15) dmunphguiht hwjwuwpnufbtpp Yuplgh
htpluyughut) unkih hwpdwp, hknbyuy Ypy®

(E-24)é =a, (4.16)
(E-—X.A )ZI b, (417)
nputn’ E - b dpunjop duwnphg &
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Lpwbmbbbp' D(4)=det(E-A4): Tupqt, np'
D(2)#0 (D(0)=1):

fwth op Ywwnphgh b tpw wpuwupnpiugus dwnphgh npnshshtpp
tmnybih kb b pugh wyy, tpk dwnphgh npnohsp qpn sk, qpn sk b hwdugmd

dunphgh npnohsp, wuyw’ D(l) 0 det(E -—ZA') #0: Mupq t
twbl, np, tGptk  E—AA4 Jdwwnphgh rubgp' 7= rang(E —-X.A) , wwym’

rang(E -4 ) =r: dipp ipjwd wupfwhbph weumpunip Luw-
phun b htnljuy dptnhojh ptopafbtpp JEpuubpus Yaphgh nhuypmd:

Ptnpkd 1: Eph D(A)ato, wujw  (1.1) phntgpupuyhb hwyjwuw-
pnudp U tpub hwdugns (4.9) hwduuwpnuip thwpdbpnplb mstkhh B
juiuyulwb £, g wquun winpudbph nuypnud:

Uwugnignud: Rwbh npD(,l);t 0, wyw pun Ypunfiph Ywtnth
(4.16) b (4.17) hadwwpglipp mukb jnudmd b wyh i) Yhwlh b judwyw-
Jub we Ywubph nhiypnud: Zknbwpwp bnybp Yupkh t wyink) bpubg
bundwpdtp (1.1) b (4.9) hntgpuuyht hwjwuwpnufubph dwupb: @

Yhwnwplkbp (1.1) b (4.9) htnbkgpuyuht hunjwuwpnudutph hw-

duywinwufuuh hufwubn hujuwuwpnusibpp ( f(x) = g (x) = 0)
o(x)=1(Kg)(x) (a.1%)
w(x):i(l(‘y/)(x) 49°)

Ptoptd 2: bpk D(A)=0, wuyw (1.1') b (49") hunjuwuwpmufttpp
mhth bnyb pwbwlny m = n—r génpkh whljwju prdnudbkp:

Uwwmgmgnud: bpp D(zl) =0, myuw (E —IA')d =0 hufw-Y{up-
qn mbh m hwwn gbnpkh whijwju d*,s=1,2,..,m ysnulubp: Umylip

Yuptih t wink twb (E-A44)¢ =0hmfwhupgh dwupt: Upgus

yirmudp &hon k bwb bpwbtg hunfwywwnwupwb hudwpdtp (1.1°) b
(4.9') hajwuwpnufutph ywuhh: @

Zwgnpn pnptup httnud t hwmipwhwalhg hwpnth (nku ophbmy
(11]) hwuwnp Ypw: Npujtugh (4.16) hwdwlwpgp wjwy @ wqun dwuh
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ntupnud mbkhw |mdnud mbhpwdbon t b punjwpup, np @ Ybljunpp
thuh nmthm)mg d’ \Jtpwnplbkphg mupupwbynpht
0=(ad*)= Za df, s=1,..,m: d*tunpbbpp womgwghnu! by

faad B4
Jj=1

(4.9') - ht hbunduypmunwujuwh pedoudbkp
v, (x)=4).3,(x)d;, s=1,...m (ubu(4.10)):

=1

Ptopkd 3: tptk D(A)=0, www npybugh (1.1) hinnkqpuy
hwjwuwpnidp mbkbw pdmd wihpwdton t b pajupwp op f (x) -p
thth mpquwhwjmg ¥, (x) = Iz q; (x)d;, s=1,.,m mdnuiutphg

=
miypupubyymphts
Unmgmgnuf: Atnptdh uwupfwbbbphg htwbmd t, op D(1)=0:

Lwju gniyg wmbp np ¥/, (x) [pudnuwdhtpp gdnpbbh whwja Gu: Ppop,

nhgmp" ) o
3 Cw(1)=13.C.37,(x)d =0:

s=] Sm] J=l

Uuhbph' "7, (%)Y C,d! =0: #ubh np q,(x) (j=1..n)

J=1 s=1

Imuljghmbtpp gdnpbh wbjwju kb, wuyw vnwbnud Bhp*

Vie{l..n} : 3Cd! =03 Cd =0=C,=0, (s=1,..,m):

s=| s=)
Ujdd gnyg wmbp, np f - h nupuwhuymgmpymbp ¥, ( x) oudm-

titiphg jnipuwpwhiyympht hwidwpdtp k bpwh, np @ -b nupnuhwymg t d'
Ytpwnplbphg upwpwhynipht: Ppop®

(fv))= AZ(f g, [ = Zad‘ (a,d’) =1,...m=>

=( f,w,)=0<:(a,d‘)=0 (s=12..m):m
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5. 2UQNMMUYUL YNrpQuss, 06ANLI6LS

Utlp wpnkh ghwtip, np “tnpp” Ynphqh (nbu (2.5)) ghiygpmud (1.1)
hujwuwpdub jpdnudp wpynud b Lipdwbh ouppny, hwgnppujwb Yn-

phqutph Yhongny (wnku (2.3)), npp Abwhnjubklp hkwnbywy Yhpy*
@ b fd
o(x)= 4" (K"f)(x)= 1 (x)+ A [Q 2K, (x 1) f ()dr:
n=0

a n=l

2kown t bundnqyby, np Z A"'K, (x,) 2uppp tnybwybu pugupawy

n=]
b hwjmuwmpuyunh gniqudtan t (2.6) yupwih weumpjudp: Wyjwus
supph gnudwpp whjubnud kb nbqopyktan Yophq U bpwbwlnud®

R(x,;4)= i A"K, (x,t) : Zudwyywujuwb htnkgpwy oujipunnpp

n=]

nyymud t nliqnijtinn oyytpunanp® (Rf)(x) = IR(x, t ﬂ)f(t)dt :

Ljunnkhp, np (1.1) hhwnbkgpuy hujuuupnudp fupbih t hiphujug-

k) oubpunanpuyht whupny' (7 —X.K)(¢)(x) =f(x). nputn /- u

vhuynp owkpunnnp t: Ujuyhuny wywgnigdty & np (2.6) wuplwbh wp-

Yuympjudp (‘hopp Yophah phwpp”) - AK opbpunanpp hujunup-

Abih t (uyuhph, @ b f wpbghwn $mblghubbph uhgl u hofhup-
dtip hudwyunnuwulawbinipyniis)

o(x)=(I-2K)" f(x)=(I+AR)f(x):

Upupbpt (- AK)" =7+ AR :

6. ILTRNLUD SLACGULLC TLOVRUS urrap
(CURZUUARL) T6NRNORT

Yhwnupybtp phphwbmp gtypp* K ( x,t) Ynphqp juiwpnlub wh-
plighwn pmghw k (K € C(D)): Up nwpnud, twp. whuihghg hupa-

th t (Lwykp2upwuh pmpkd (6]), np
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Ve>0 3p,.q,eCla:b] (j=1I..n). p,(x) b g,(r) Porbyghu-
tibpp gtmpbh whlwju bh [4;5] - mud 0°
K(x,t)-P(x,t)=0(x,1),

nputm P(x,t)=Y" p,(x)-q,(r) bpuubpws yaphq b huy O(x,t)
=

wplnhun Ynphqp wybwhuhti t, np V(x, t) € (D) : ’Q(x,t» <&
Cty npnut, p, (x),q, (¢) $mblyghwibpp Yupny b (hbky puquw-
nufbbp: £ npujmb phyp plunpbtp wybytu, np'

N
|'1|”(‘,‘,')le("")|@'“)< 1|A|e(b-a) <1, mpuhipt® & < Ao=a)

Wuwhuny (1.1) htwtgpuy hwjwuwpnudp Yupbkh * bbplupaghty
Bl Yhpoy

¢(x)—}.]'P(x,t)p(t)dt-zij(x,t)p(t)dt = f(x). ©)
Y oyjipuwenpuyht nnkupny*
(1-2Q)p(x)=APp(x)+ f(x): 62)
Ltmimbtyny] towtaynud® (7 - 4Q)@(x) = ¢(x) b hwalh wnkyny,
mp wyunbnhg @(x)- p vhwpdbpnpkh wpmuhupadeut t $(x) - o
$(x) =(1-AQ)" p(x) =(1 + AR )p(x). tprmtnst’

#(x)=AP(1+AR)g(x)+ f (%),
Yud*
#(x)=AT¢(x)+ f(x), T=P+APR 63)

2k t tljunty, np PR owbkpuanphtt hwiwywwnwujuwh hbnk-
qpuy Ynphqp Ytpwubpyws t, uyupbph T owkpwwnpht hwwuw-
wnwupwbnud £ Jkpuubpdws Ynphq:
Ujuwhuny (1.1) ptighpp pipgkd hwdwpdtp Ytpuubpdwd Ynphgny
(6.3) htwnkqpwy hunjwuwpdwbp:
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Uydd duwnhnjubip (1.1) - bt hudwymd (4.9) puntgpw) hwjwuw-
poudp, npp Juipbih & dbpluywgbty htnbyug Ypy®
(I - lP)u/(x) = ﬂQW(x) + g(x) , ujuhliph’

y(x)= :iT'W(x)+G(x), (6.4)
npubn’
T' =P +AR°Q", G(x)=g(x)+R"g(x).

Ujuyhuny (1.1) - p hwndwpdtp k (6.3) - hti: Mtunh Lodwphn t

$ptnhnjth winbptunahdp

1. bpk (1:1) hunbqpuy huwuwpnwip (K € C(D)) mbh mbnud
gutjugus wquun feC [a;b] dwubph nhypmu, wyw' tpw hwdw-
m5 (6.4) htunkqpuy hujwuwpnudp mth mdmd judwmjub wquan
geC [a; b] nhupnuy, piiy npoud wyry, pmdnufubkpp vhwyl th (Sptnhng-
Up wowghh ptnptu):

2. bptk (1.1) hthwnbgpuy hujuwuupmip (K € C(D)) mbh inubnud
ny pnop wmquun f € C [a;b] vwubph ntypmd, wyw (1.1°) b (49°) hu-
tdwutn hintqpu) hujwuwpnudbpp nubkb dhhinyt Jepgwynp pubw-
ympjunip (nudnultbip (Spknhnpfh tpYpnpy pinpkd);

Npytugh wfjm; wquun feC [a;b] twuh nbypnud (1.1) htunk-
gpu) huwjuwuwpmup nibkbw ymdmd wihpwdtow £ b pudwpup, np-
wyhugh f (x) - ¢ thth opengntwy hwdwintd hwdwubn (4.9°) hujwuwp-
dmb mdnudutphg mpuibyniphb (Sptghnuh tppnpy ptmplad):

Ugmgnigm: bpp A =0, wyw wypthwyn t, np Spnhnpth wy-
ubptwnhyp wknh mbp: Zwdwpkp, np A#0 L plnpbbp

€ <——I———: thpunptlp, np (1.1) htunbkqpuy hwjwuwpnuwip ntbh
|4l(6-a)

mbnuf Yunfwymlywh f € C[a;5] hunfwp, wyn nwpmd (1.1) - hb hud-

wpdtp (6.3) Ypwubpdus htnkqpuy hwjuuwpnuwip inybybu mdkih k

C [a; b] nuunid judwymywt f€C [a;b] - b hunfwp: Ujuntinhg, Yh-

punkiny Sptnhnph ptnptdl - p Yipuubpusd Ynpheh ghypmd, uvnw-
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tmd Ghp, np D(l)ato: U nkupmd punn Spbphnjth plinphd 1 - b,
wnwbnd kbp, np juniwpuluh £,G € Ca;b] hufup (1.1) b (6.4) pu-
wnbkgpuy hujuuwpnudbpp hwpdbpnpbh jnwkh th C [a;b] nmunu:
Puyg, pubth np g b G $mbiyghmbkph vholt Yw thnjudhwpdtp huniw-
yunuuppwbnpymb, waw (1.1) b hudwpdtp (6.4) hunjuuwpnifubpp
inwbkh Bb ympuwpwimp f b g mquun dwubkph nhypmu: $ptnhojth
wnwoht phnptdp wywugnigjus t: @

bpt (1.1) hnbgpuyht hwjwuwpnudp ny poop £ - h phypnud ¢
mwkh C [a;b] nuunwd, wyw tpwh hwdwpdtp Ypwutipwd Ynphqny
(6.3) hmjwuwpnufp inybybu sk sk gubijmgwd f - h ghypouk:
oy nm bpwhwymd t, np D(l) =0: Npkdl, pun Sptghnjbh p. 2 - h
(11°) l//(x)=7.T°y/ (x) hujwuwpmubtpp mbbkh tnyb JEpquynp
pubwlmpjmdp qdnpth wiwju udnudbbkp: Lwbhnp @ b ¢ Pmtiyghw-
btph Jhol Yw thnjthwpdtp hwdwywwwujwmbimpimb, wyw inybp
Yuiplih b winly (1.1°) b (49°) hajwuwpmdbubph hudwp: dptghnpdh
Epypnpn phnpbdp wyugmgjus t: =

Cuwn Iptinhnuh ptinpbd 3 - h, YEpuutpws Ynphqutiph hudwp tpp
D(A)=0, npytugh (1.1) hunjwumpnuip mbkim jmsond Cla;b] qu-
unwf njuy f - h ghypod wihpwdbow k b pujwpwp, np f -p (hbh op-
pngnlwj hwdwimd hwfwute hnnbgpuy  (4.9°) hwjuwuwpdwb pognp
udnulibpht: Lwbh np hwdwpdtp Jtpwubpdwd Ynphqm| htwnkqpuy
hajuuwpdwb bwdwp ny f - ph § hnpnfly ny | hwdwute hudugmd
hujwuwpiub hudwp g - b, wnugmdp £hown k bwb phghwbmp nby-
pnud: dptinhnpth Eppnpn phnpiadp tnyby ku wymgmglud t: @
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